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1,0 ABSTRACT

THIS PROGRAM WILL -INCREMENTLY TEST AND ISOLATE SIMPLE MALFUNCTION
RELATED TQ THE DIV INSTRUCTION

2,0 REQUIREMENTS

2.1 EQUIPMENT
" BASJIC 11/45 SYSTEM OR
11749 W]ITH KE11=E OPT]ON
2,2 STORAGE
THIS PROGRAM USES @ THRU 175089

2,3 PRELIMINARY PROGRAMS
DZAA THRU D@MA
3,0 LOADING PROCEDURE

LOAD PROGRAM USING ABS LOADER

4,9 STARTING PRQCEDURE
LOAD ADDRESS 282, PRESS START, THE PROGRAM WILL LOOP
AND RING BFLL ON PASS COMPLETION,

5,0 OPERATING PROCEDURE
5,4 SWITCH SETTINGS

NONE
5,2 SUBROUTINE ABSTRACTS

52,1 SCOPE
SCOPE 1S A MOVE PC,R1 AND STORES THE PC+2 [N R,

5y2:2  HLT
HLY IS A HALT INSTRUCTION,

6,0 ERRORS ,
ALl ERRORS WILL CAUSE A HALT
TRAP AND INTERRUPT ERRORS WILL CAUSE A HALT AT VECTOR#2,

631 ERROR RECQVERY
PRESS CONTINUE TO PROCEDE TO NEXT ¥EST

612 ERROR LONPING
TO LOOP ON AN ERROR, PLACE A BRANCH TO THE PREV]QUS SCOPE
INSTRUCTION IN PLACE OF THE WALT INSTRUCTION,
NOTE THAT IF THE ERROR IS INTERMITTANT THWAT THE TEST WILL
DROP THRU THE HALT AND PROCEED TO THE NEXT TEST,
THEREFORE, TO LOOP THE TEST CONTINUOSLY REPLACE THE BEQ |, *+4
INSTRUCTION IMMEDIATLY PRECEEDING THE HALT WITH A BRANCH
BACK TO THE PREVIOUS SCOPE,

TO LDOP ON TRAP FAILURES, PATCH IN THE FOLLOWING ROUTINE
AT THE ADDRESS OF THE TRAP VECTOR,

TRAPVEC! TRAPVEC+4

TRAPVEC#2} 2

TRAPVEC+4 | 212716 JMOVE SCOPE ADDRESS TO STAGK
TRAPVEC+6 | ADDRESS JADDRESS OF PREVIOQUS SCOPE

TRAPVEC+121 290006 RETURN TO TEST AT SCOPE



7,0

8,0

831

8,2

RESTORE ALL LOCATIONS BEFORE PROCEEDING YO NEXT TEST,

RESTRICTIONS
NONE

M]ISCELLANEOUS ’ ;
ON TRAP ERRQRS THE STACK POINTER(R&) WILL CONTAIN THE
ADDRESS WHERE THE TRAP OCCURED,

EXECUTION TIME
THE PROGRAM TAKES ABOUT 1 MINUTE,

STACK POINTER |
THE PROGRAM INITIALLY SETS THE STACK POINTER AT 508,

PROGRAM DESCRIPTION

THIS IS A TEST OF THE DIV INSTRUCTION, IT TESTS D]V ON
DJFERENT NUMBER PATERNS IN ALL EVEN REGISTERS, ERROR
CONDITIONS ARE AL SO CHECKED



MAINDEC-11aDCKBL=A DIV TEST

DCKBLAPLL
802000
202000
Bip7el
BYRO06
[-LLITM
177570
1/7570
177776
292090
[ILT.I'TS
e
pue2ew

200200 ©00E167 2P857s

891990

201000 ©42000

80182 ©12706 @@pS2p

201886 DUSDIT 177774

201012 032737 @01030

001020 0901403

201822 012737 0Q&R20

001030 032767 0Pg4zE

201836 00140§

291848 116767 176524
MAINDEC.11=DCKBL=A DIV TEST
DCKBL A, PLL

001046 P1R701
221050 012700 @pPe02Q
201054 DPL2791 200034
201060 071827 gppR22
291064 D13767 177776
@p1872 122767 0QPPO20
Pp1108 001401
001102 9QY2e0R
P@1104 0822700 0QQPR32
21140 ©01401
291112 P9Y0020
PP1114 022701 082020
PPL120 €140
001122 ©Y0PVY
Pp1124 P1e?oy
201126 P£12708 gondoQ
291132 912701 220014
291136 071027 0pQ0II
2p1142 ©B13767 477774
oEL1%@ 122787 pgenap
201156 001403
01168 2VP0YL
201162 0922700 Q00023
0G1166 0u1401
261178 PYeDYR
291472 922701 92peRap
201176 901403
pe1200 PUAYR

MACY11,606 22-FEB=72 18124

PAGE 1

+TITLE MAINBECw11aDCKBLeA DIV TEST
ICOPYRIGHT 1972, DIGITAL EQUIPMENT CORP,, MAYNARD, MASS

IPROGRAM BY p0B BRAIN

+ENABL  ABS
g
HLTaHALT
SCOPEwLR7RY
SPa%é
PCux?
SWR247757¢
OISPLAY®SWR
PS817777¢
DUMMYs @
NEY
M30
19200
JMP 8EG
.3 108p
1CNT) 2]
BEG! MOV #5082, %6
CLR LI
177572 B1T #1002, 8#SWR
BE® oip
177778 MOV #4000, 84PS
176532 BT #402,SWR
BEQ o402
176722 MoVB SWR,17777¢
MACYL1,606 22-FEB=72 18124 PAGE 2

3 TRAP CATCHER B = 7764

1PASS COUNT
)83 STACK AT 500 we
JWHICH REGISTER SET?
JALTERNATE?

LT R R Y Y YR Y P T T Ry L Y Y T R Y T TR L X R LT TR T LT

REM = 0 PS 3 2

LA AT EE A P R I E R TR R L T Y T e e LA LT L T R L)

1TEST OF DIVIDE

JLOAD HIGH ORDER WITH 2
SLOAD LOW ORDER WITH 4
1DIVIDE BY #2

1SAVE PS

J1S PS = 0

1PS IS WRONG

318 QUOTIENT = 2
$QUOTIENT 1S WRONG

318 REMAINDER = 0

JREMAINDER 1S WRONG

IR AR TR R A L R L T T ey R e LA T A R T2 e L]

REM =2 0 PS = @

ER I A R R e T T Y R T T S PR P R R e )

1TEST 4 DIV 2 4 7 #2 3 2

scope ‘

MOV #0,%0

MOV $4,X0%%

piv #2,%0
910530 MoV ®4PS,PSW
813522 CMPB “p,psSH

BEQ (o4

HLT

CMP #2,%0

BEQ 1ed

HLT

CMP HO, %001

BEQ Y]

WLt

JTEST 2 DIV 2 9, / #3 = 3

scoPE

MOV #9,%0

MOV 49, %Bel

DIV #3,%0
248452 MoV SEPS,PSW
L0444 CMPB #0,PSW

BEQ 1e4

HLT

cHP #3,%0

REQ Y

HLTY

CMP #0.%0+4

REQ ied

WLT

$TEST OF DIVIDE

JLOAD HWI1GH ORDER WITH O
ILOAD LOW ORDER WITH 9,
JIDIVIDE BY #3

ISAVE PS

IS PS 5 @

1PS 1S WRONG

118 QUOTIENT = 3
JQUOTIENT IS WAONG

}18 REMAINDER o D

JREMAINDER 15 WRONG



MAINDEC=11eDCKBL"A

DCKBLA,PL1

201202
sol2p4
8p1210
ogi214
gpizen

901226
01234
781236

201249
ppl244
201248

op1250
2012%4
801256

201260
Ap1262
201266
01272
agLaré

201324
221312
21314

0213168
291322
201324

801326
001332
2p1334

201336
2801340
221344
pp135e
201354

2801362
apL378
201372

081374
pgl4ag
201402

201404
001412
601442

201414
np1416
001422
001426
201432

201440
Bplads
np143e

201492
nP1456
201442

go14é2
2014486
201470

DIy TEST
g1e703

o12708 177777
812703 177774
B71027 00p0322
013767 179776
122767 ogedip
001403

202202

022708 177776
001401

20pB00

822701 003020
021401

[L1Y1T]

010703

alzyoe 179777
212701 177747
p71027 00023
P13767 177776
122767 gQp0o1p
0214031

22002

022700 177778
201403

[T

022701 00ER20
021403

L.L2T 1T

eie7el
gizree
p12701
271827
213767

122747
#0140
2080V2

22700
pD140Y
20pBRR

22701
P21403
PITLT]

91070}
P12708
912783
271927
P13767

122767
201401
LITLIT)

p22790
201403
000002

822703
pU140Y
202000

2000200
gueril
2QoR322
17777¢

2000228

280224

202221

177777
177747
[ L LI
177776

oore1e

177774

177777

MACY$1,606 22-FEBe72 18124 PAGE 3

L Y Y Ty T T LY T T T Ty Ty Y Yy T Y Y Y Y Y T T Y YTy Y Y Y T
ITEST 3 DIV ={ =4 / #2 8 =2 REM w 2 PS » 12

LI R Y T S A T R T Y L R R Y P Y R T S Y T Y YR e Y ¥

SCOPE JYEST OF DIVIDE
MOV #al,%0 JLOAD WIGH ORDER WITH =1
MOY Hod %001 1L0AD LOW ORDER WITH =4
plv 2,50 JDIVIDE BY #2
012374 MOV SRPS . PSK ISAVE PS
2102346 PLLE] #10,PSW i18 PS = 10
BEQ ood
HLY 1PS IS WRONG
cMP #e2,%0 §1IS QUOTIENT & =2
BEQ 1ed .
HLT $OUOTIENT S WRONG
cMP #0,X0%1 118 REMAINDER = 0
REQ L
HLY IREMAINDER 1S WRONG

RLITIL Y - - L Y Y YT T Y Y TR LYY Y ey Ty
ITEST 4 DIV =1 w9, / #3 ¥ =3 REM =2 0 PS w 10
LTI LT T T L L T T Y Yy Y T Y P T Y T e T Y TP Ty Y ¥ ¥

scare ITEST OF DIVIDE
uay #s1,%8 1L0AD WiGH ORDER WITH =i
MoV LIS 1238 JLOAD LOW ORDER WITH =9,
Dlv #3,X0 IDIVIDE BY #3
210316 Mov GHRS,PSH ISAVE PS
210312 cMPB #10,PSW 11S PS & 10
BEOQ o4
HLY 1PS 1S WRONG
CMP Wa3,x0 )19 QUOTIENT » =3
8EQ b
HLT JQUOTIENT 1S WRONG
CMP #0,X0+4 11S REMAINDER a 0
REQ Y]
HLY JREMAINDER 1S WRONG

T Ty Ly L T P LY T R L YT e L e
ITEST 3 DIv 9 9, / ¥2 w 4 REM s 1 PS 3 0

LRI R X R R L L A R R L L R Y R R A S AL I Rl

ScOPE JTEST OF DIVIDE
MOV w0, %0 ILOAD WIGH ORDER WITH &
MoV W9, %01 1LOAD LOW BRDER WITH 9,
o1y #2,%0 IDIVIDE BY #2
2109242 MOV SHRG,PSW ISAVE PS
219232 CMFPB #0,pSW 118 PS » 2
REQ od
WKLY 1PS !S WRONG
CHP 4, %0 118 QUOTIENT = 4
BEG i )
HLT JQUOTIENT IS WRONG
CNP #1,%041 31S REMAINDER » 1
BEQ Y]
WY JREMAINDER 18 WRONG

J .Q.’.ll&.in.i.llQo.ﬁ’l..i.illpl....l‘d.i.D.Q.l..il.lQ’&ll.nli..'.l.Q
JTEST 4 DIV =1 9, / #2 % w4 REM m =1 PS5 3 10
] BROBU NS RB BRI RRRAQOPAR B R AIB AR PR BBIREDRR DR R BPRBR BRI B BB RNRRNBBIO SR

scopE STEST OF DIVIDE
MOV Hat, X0 ILOAD HIGH ORDER WITH =2
MoV [ ETIN 1231 ILOAD LOW ORDER WITH »9,
DIV ¥2,%0 IDIVIDE BY #2
210162 MOV MEPS, PSW ISAVE PS
210454 CMPB ¥19,PSV 11§ PS = 12
REQ Y
HLT IPS 15 WRONG
cHP Hud %2 118 QUOTIENT » =4
BEQ ieé
WLT JQUOTIENT §S WRONG
cMP Huy, KBeY 118 REMAINDER » =i
REQ 1oé

HLT JREMAINDER 1S WRONG



MAINDEC-11+DCKBL=A

DCKBLA,PLL

201472
201474
221520
301524
201510

001516
801524
201526

891530
291534
891536

n01549
201544
601546

621550
791552
2091556
#p1562
P31566

001574
281602
721604

201606
rglel2
nB1624

201616
1622
201624

MAINDEC-11=DCKBL=A DIV

DCKBL4,PLL

701626
201630
201634
2p1649
001644

801652
201660
021662

201664
201670
01672

301674
2p17290
gpL722

001704
0917086
001712
0081716
281722

201730
2091736
201740

001742
opL746
201750

201752
201756
201760

DIV TEST
B1e701
0127280 0@ndoe
?12701 200Q11
871027 177776
¢13767 477776
122767 00g0@1p
021401
vueeYe
222708 177774
©e1401
vYRPYD
022701 2080371
201401
oveery
212703
012700 @P2020
V12761 p@pB22
071027 202023
B13767 177776
122767 000024
p01401
oveove
©v22720 002022
pP1401
oRRBY
022701 220072
p81401
PoRRLVY

21e701
012790
912701
071027
B13767

122767
001421
20C0LE

022720
¢o1401
PueoLR

02z70%
001490
vaeBoL

pie70l
12708
0127081
arie27
B13767

122767
p21401
(LTI

022790
00140y
092000

822703
201401
ovzRVR

TEST

280020
202222
177775
177776

202024

002020

2002322

177777
177776
202223
177776

209224

000038

177776

MACYL1,626 22-FEB=72

012104
810076

810226
210029

18124 PAGE 5

IR LT R L R R R Y e A e T R R Y L Y R Y Y Y P R T IR S TS SRR LY XY Yd

ITEST 7 DIV B 9, ¢ #«2 3 =4

REM = 1 PS s 42

LT T ey Yy Y T e T ey e Y R T YTy

ScoPe
MOV
MOV
olv
MOV

CMPB
8EQ
HLT

cHP
BEQ
WLT

cMP
BEQ
HLT

40, %08
#9',  XDe1
#=2,%0
@#PS,PSK

#1,0,PSW
Vo4

#ed, %0
1)

#1,%0¢

o4

JTEST OF O1IVIDE

ILOAD WIGH ORDER WITH 2
JLOAD LOW ORDER WITH 9.
JDIVIDE BY #e2

ISAVE PS

11S PS o 10

IPS IS WRONG

11S QUOTIENT & =4
JQUOTIENT 1S WRONG

$18 REMAINDER # 4

JREMAINDER 1S WRONG

(A2 L TR T A T T R AR L R A R R R R L Y Y Y R R R N I R TR E LY
JTESY 42 Div @ 2 / #3 = 8 REM ®w 2 PS s 4

IRAAS ARSI T Y 24 %
ScOPe
MoV #0,%0
MoV #2,%0%%
nlv 43,%0
MoV ®#pS,PSW
CMPB #4,pSW
REQ i.é
HLT
cMP #0,%0
REQ Ve
WLT
CMP #2,%0%4
REQ o h
HLT

MACYL1Y,6086 22-FEB=72

227759
2p7742

o@7672
207664

18124 PAGE 6

L T TIITT T Ty
1TEST OF DIVIDE

SLOAD WIGH ORDER WITH @
JILOAD LOW ORDER WITH 2
IDIVIDE BY #3

JSAVE PS

$1S PS 3 4

IPS IS WRONG

318 QUOTIENT 3 @
$QUOTIENT 1S WRONG

318 REMAINDER # 2

JREMAINDER 1S WRONG

IR T AR R T T R R Yy L AT R T R A A AR R L Al S LA A S At L et

JTEST 11 D1rv

B2/ %330

REM = 2 PS » &

LTI TR T R YT L R A T L LR R LA R I A R T R L AL A A A A L et il

scoPe
MOV
Mov
nty
MOV

cMPB
BEQ
HLT

cMP
REQ
HLT

cMp
REQ
HLY

#0,%0
#2,%044
#e3, %0

®#pS ,PSH

#4,pSW

X}

#0,x0

Y

#2, %044
Vo4

JTEST OF DIVIDE

JLOAD HIGH ORDER WITH 2
JLOAD LOW ORDER WITH 2
JDIVIDE BY #a3

ISAVE PS

118 PS 3 4

1PS 1S WRONG

118 QUOTIENT » 2
JQUOTIENT 1S WRONG

118 REMAINDER » 2

JREMAINDER IS WRONG

LT T Ty e e I T e L L R Y A e T T
=L =2 / #3 0 REM = »2 PS » 4
IRy R R Y T A R T Y e S A R A R A T A R g S et L

JTEST 12 O1v

SCOPE
MOV
Mov
o1y
mov

CHPB
8EQ
HLT

cuP
REQ
HLT

cMP
BEQ
WL

Hat %0
%02, %081
#3,%0
O¥PS,PSH

#4,pSK
s

#0,%0
L]

#=2 X021
1)

1TEST OF DIVIDE

JLOAD HIGH ORDER WITH =1
ILOAD LOW ORDER WITH =2
JDIVIDE BY 3

JSAVE PS

J31S PS = 4

IPS IS WRONG

118 QUAOTIENT = @
JIQUOTIENT IS WRONG

115 REMAINDER ®» =2

JREMAINDER 1S WRONG



MAINDEC-11wDCKBL=A DIV

0CXBLA P11

281762
201764
801770
201774
202000

gp2006
202014
ppedié

og202@
202024
2p2026

002030
[ X TAL]
002036

Po2040
02042
002046
op2052
202056

002044
202072
002074

202076
ag2102
2p2104

B52ice
ap2112
292114

2ie701
012700
012761
971027
013767

122767
801403
200000

022700
001401
IPTIIT

822701
PB1403
202040

[2%-21F)
812700
B12703
w7127
013767

122767
01404
299000

222720
001401
202000

ge2703
201401
90p00R

MAINAEC.11=DCKBL=A D]V

DCXBL4,PLL

222146
pp2122
02124
222139
Pp2134

0p2142
202130
Bp2152

po2154
pR2160
002162

202164
202170
ap2172

002174
202176
2022082
802206
po2242

2220
op2226
202230

802232
202236
8p2240

gp2242
202246
202239

212701
212700
0127903
©¥71027
913767

122767
PU140]
2U200D

222709
221401
209209

922703
201401
200000

210701
@i12708
212703
271027
213767

1227487
201401
LTI

822700
poL4B]
202000

p22701
201403
PYPTLE)

TEST MACYL11,606 22~FEB=72 18124 PAGE 7

L I L P T T L L L L T T Y S T T L T P R P L )
ITEST 43 D1V ot =i / #1 » =i REM » 2 PS » 18

|..0.’.IO.Q..i.'l."'.ll'.....l..‘....."l.ﬁll.h.l.bll'!bl.'.l.ll..'ll

ScoPe 1TEST OF DIviDe
177777 MOV Wet, X0 JLOAD HIGN ORDER WITH =3
177777 MOV dey XPe1 JLOAD LOW ORDER W]TH =t
epeest oly 41,50 iDIVIDE BY wt
177776 007614 MOV *4pS,PSH 1SAVE PS
2Pol1e 227604 CMPB #10,PSW 118 PS = 12

BEQ d

HLY 1PS 1S WRONG
177777 cHP #ey, X0 118 QUOTIENT & =t

BEG od

WLT JQUOTIENT 1S WRONG
200020 cHP 40,5041 118 REMAINDER % 0

BEQ o4

WLt JREMAINDER 1§ WRONG

]&ll."ll.’..l‘...Ql....'.i.I.h...l..l..'.l.l...l'i...!'l.l. BRBRDERIY
JTEST 44 Diy B 0 s KL % B REM s 0O PS ® 4
].Q.ﬁlII&0.0'."OQ.Q&.QQI.O...hl.‘.OQQ0.00#OO'-ﬁ“ﬁ.'.l.li.'l..l.‘.l..a

SCOPE ITEST OF DIVIDE
200020 MOV #0,%0 JLOAD HIGH ORDER WITH B
200020 MOV ¥, %01 JLOAD LOW ORDER WITH 2
20098321 o1V #1,%0 10IVIDE BY #1
177776 0@7536 MOV akpS,PSW JISAVE PS
200024 007532 CMPB #4,pSW JIS PS = 4

RER 1eé

HLY IPS 1S WRONG
28020 CMP #0,%0 118 QUOTIENT = 0

BEQ Y

HLT JQUOTIENT IS WRONG
14711} CMR #G,%2%1 11S REMAINDER » €

BED L

HLT JREMAINDER 1S WRONG

TEST MACY11,606 22-FEB=72 18124 PAGE 8

L T T it R LI TL IS L LTRSS R L]
ITEST 45 Div =1 1252%2 / #2 w» 152525 REM s D PS = 42

JRERBEASABAG IR RIS P BRI RESES * Busbtan SRNBR B QU BN GEY
sgopPe ITEST OF D!IVICE
177777 MoV #et, X0 JLOAD WIGH ORDER WITH <1
129232 MOV #125252,%0%1 J1LOAD LOW ORDER WITH 125252
eeaR22 olv #2,%0 1DIVIDE BY #2
177776 0@7460 MOV aNPS,PSW ISAVE PS
o0p04p 097452 CMPB Wi0,PSW 118 PS = 48
BEQG Y}
HLT IPS 1S WRONG
152525 CMP #152525.%9 118 QUOTIENT = 152525
REQ e h .
HLT JQUOTIENT IS WRONG
200020 cHP #0,%e+1 118 REMAINDER = 2
BEQ L
HLY JREMAINDER 1S WRONS

R LT I L T Y R T Ty L L I TS AL S A L TR LA AL At AL it g
JTESY 16 D1y @ 52525 / #¥2 s 25252 REM s 4 PS » O
L L L T ey R A R P L

scoPE . JTEST OF DIVIDE
200000 MoV we, %0 ILOAD WIGH ORDER WITH @
p52525 MOV #52825,X0¢4 ILOAD LOW ORDER WITH 52525
008032 Blv #2,%0 J1DIVIDE BY w2
177776 007402 MOV a¥PS, PSW 1SAVE PS
oppdaD 007374 CMPB we,psW IS PS 2 @
BEQ L)
HLT IPS 1S WRONG
228252 cMP w28252, %0 118 QUATIENT ® 25252
BEQ L
HLT JQUOTIENT 1S WARONG
20n221 CMP #4,%0%4 11S REMAINDER ® 1
REQ 144

WLT IREMAINDER 1S WRONG



MAINDECw11=DCKBL=A DIV

DCKBLAJPLL

202252
ep2254
202260
202284
802270

po2276
8p2304
202326

202310
202314
282316

Pp2320
202324
2p2326

202330
202332
202336
032342
£02346

002354
202362
902364

202366
202372
002374

292376
202402
202424

21e703
812700
12703
B71027
013767

122767
021401
200000

022700
001403
00poUD

022703
201401
PEELIT

212701
212702
012703
071027
913767

122767
001403,
vogoLD

622700
001401
002000

022701
001401
2920008

MAINDEC-11«DCKBL=4 OV

DCKBLAWPLL

202436
292410
202414
3092420
ppe42d

802432
Bp2440
0p2442

2p2444
282450
2824352

Pp2454
2p2460
nB2462

282464
202466
02472
002476
202582

202510
np2516
292520

2p2522
792526
202530

202532
292536
892540

912703
912700
012701
#71027
933767

122767
201403
guepoo

022700
pY1401
202000

022701
V1401
20P2YD

p1e701
p12700
912703
071027
013767

122787
201481
20200

822700
po1493
920029

g2z70%
221401
poeBL2

TEST

177777
177777
177777
177776

208020

200221

200020

025233
200020
128252
177776

000010

100920

000020

TEST

928233
200021
125252
177776

000210

100220

200921

837777
877777
877777
177776

262020

877777

-877776

MACY11,6086 22-FEB=72 183124 PAGE §

2g7324
2807316

pp7246
207240

IRAAZ AL 2T 2R R T Rl S At 2 R R Ay R R A It T e e d
ITEST 47 Div =i wi / 8oL &= L REM 3 8 PS »

IR A P L T T T Y R L e A A I R R T R R L L A R A T A T AT

ScOPE ITEST OF DIVIDE

MOV Bey %0 JLOAD HWIGH ORDER WITH =1
MoV Hatg X041 JLOAD LOW ORDER WITH =1
DIV #ed, X0 IDIVIDE BY #ai

MoV %P5, PSH 1SAVE PS

cMPB ¥0,PSH )1S PS s @

REQ Y]

HLT 1PS 1S WRONG

CcMP #1,%0 JIS QUOTIENT » ¢

BEQ bé _

HLT FQUOTIENT 1S WRONG

cHp 40,%0%1 31S REMAINDER » @

BEQ .4

HLT JREMAINDER 1S WRONS

IAAAL AR R LTI A SI2 I R A d d A ad i R ARl A2 e e L L I e e a2

JTEST 280 Oyjv 25283 @ / #1252%2 s 100000 REM » PS = 10

JERBERORAER R RSB BB BIIERBBIR BRI DEREBW - ERWTRBRATEERBBIRORD
Scopr $1TEST OF DIVIDE
MOV #25253,%0 JLOAD WIGH ORDER WITH 25253
MoV #0,%0%4 JLOAD LOW ORDER WITH @
o1V #125252,%0 IDIVIDE BY #125252
MOV ®#PS,PSW 1SAVE PS
CMPB #10,PSW 118 PS £ 12
BEQ o+
HLT JPS 1S WRONG
cMP #100000,%0 $1S QUOTIENT = 100080
BEQ LA
HLT JQUOTIENT 1S WRONG
CMP #0,%0%1 315 REMAINDER 3 @
BEQ L
HLT JIREMAINDER 18 WRONG

MACY11.686 22-FEB=72 18124 PAGE 18

2g71782
2@7162

8g7112
Pp7L04

EpRBGERHDES
Ii'hiaiaoin.uﬁa&c.ﬁuii.liiiltuiaiiai.nuo»a.paul.auuﬁtﬁ&ii
:*EST 24 Dpv 25233 1 / ¥1252%2 = 100000 REM ® 4 PS = 10 ves
;Ilaa!il&l0‘ﬁ&‘ﬁ&olu&illilb'p.noﬁ.leinﬁ&ooou'ua&d.an.iahnﬂQuiaoﬁﬁ #

ope JTEST OF DiVIDE
agv #25253, %08 {LOAD HIGH ORDER WITH 25253
MOV #1,%041 JLOAD LOW ORDER WITH &
oty 4125252, %0 JBIVIDE BY #123252
MoV a#PS, PSH 1SAVE PS
CMPB  #10,pSW 118 PS a 18
] Y]
i ) RS 1S WRONG
cMP 4100092, %0 118 QUGTIENT = 100002
Q “é
ner ) JQUOTIENT 15 WRONG
eMp #1,%0%1 }1§ REMAINDER 3 1
4
3E$ ) JREMAINDER 1§ WRONG

Bpssunoenes
F T Tt L L iyl
JTEST 22 Dpy 37777 77777 / 477777 % 77777 REM ® 77776 PS = 2

|tnoln'la'liail&tli.o.n".l!iﬁ.iinbto!i.nﬁ&u&ﬂ&ial».ntli‘&.al.ua&lnn&

]34 1TEST OF DIVIDE
:gv #37777,%0 ILOAD WIGH ORDER WITH 37777
MoV B77777, %84 JLOAD LOW ORDER WITH 77777
plv #779772%0 sDIVIDE BY #77777
mov o¥pS,PSK ISAVE PS
CMPB #0,PSH 118 PS = 2
Q Y}
:ET JPS 1S WRONG
cHP 277777, %0 118 QUOTIENT & 77777
e .
:ET * SQUOTIENT 1S WRONG
cMP #77776, 4044 11§ REMAINDER ® 77776
Q LY}
gE* ) JREMAINDER 15 WRONG



MAINDEZ=112DCKBL A

DCUBLAPLL

pp2542
22544
00255¢
00554
pp256g

202566
22574
802576

2024608
002604
202606

222612
202614
802616

202620
092622
202626
pE2632
202636

032644
2092652
202634

002656
Bp2662
PO2664

PR2666
0082672
202674

212703
p12702
012781
271027
213767

122767
001483
202000

@ge2700
201401
pogoeR

022701
o140y
20000

p1e703
212700
p12701
e71027
013767

122767
201403
EYrLIT]

222700
poLénl,
202002

222701
201401
PTTIT)

MAINAPCL.L1=DEKRL A DIV

DCHBLAPLL

202676
202728
ag704
gp27ie
802714

092722
0202739
202732

202734
ap274p
082742

2082744
022750
2p27%2

202754
82756
202742
202766
ge2772

ag3eoe
203006
2p3e1e

283012
2p301é
op3029

23822
03226
203030

219724
012700
p12701
871827
213767

122767
ge140]
2vpeop

222700
201403
2008902

Be2723
p01401
LI

212701
912700
212704
871027
813767

122767
001423
PYELLT)

222700
2o14pY
290000

022701
021603
20p000

DIv TESY MACYL1,686 22-FEB=72 18124 PAGE 1§

'll.llbt'.‘p..ll.l.’o'....l.’.g..'..lll.oOll..'Onll.&'!.l.'.!'....'ll
JTEST 23 Div O L1Pg02@ / ¥2 w 4PQEE REM w @ PS v B
|IQI.lD.“..OD.0...&....!......“..“.!.l.l.l..l..!Q.id!.bb.l&.ll.l.l"

sgoPE 1ITEST OF DIVIDE
200020 MOV “0,xe JLOAD MIGH ORDER WITH B
19020 MOV #400002, %01 JLOAD LOW ORDER WITH 100200
2po0z2 olv *#2,%0 IDIVIDE BY »2
177776 807034 MOV S4RS, PEYW JSAVE PS
0902728 0p7224 CMPB 48,pSH 11$ PS 3 2
BEQ (o4
HLY 1PS 1S WRONG
P40022 cMP HAZR00, XD i1S QUOTIENT & 42000
BEQ Y1) .
HLT IQUOTIENT IS WRONG
202028 (.14 #9,X0+4 118 REMAINDER » @
8EQ .4
HLY JREMAINDER 1S WRONG
JORRAEBERENEQR BN AS A4 Xl BEABBBDURBBLBOPRNBE RSB RER

JTEST 24 D1y 0 100021 /7 #2 » 40000 REM s 4 PS s @
JORBEBBIGREGABONRBR AN PER RN R RANBBBOPBBSRBGRRR B POOHRRE LR RRIROD R B RN RS

SCoPE JTEST OF DIVIDE

202222 MoV 4,82 5LOAD MIGH ORDER WITH &
100021 Mov #102001 %041 1LOAD LOW ORDER WITH 1002091
[111EH o1V 42,%0 101VIDE BY #2
177776 008756 MoV #4PS, PSH JSAVE PS
000028 006750 CMPB #0,PSW 118 PS ¢ 0

BEQ RL

HLT ) 1P8 1S WRONG
24p220 CMP #42000, %0 118 QUOTIENT = 48200

BEQ ied

HLT IQUOTIENT 1S WRONG
200271 cHP #1501 118 REMAINDER ® 1

BRED Y

HLT IREMAINOER 1S WRONG
TEeY Mamyi4 . 406 22-FER=T72 18124 PAGE 12

JORP IR PR AP RB RN RSB RN BRRBEROBRPRNBAUBBIRRRRISBDENERRBRPDRABRERBAR RS
JTESY 25 Dyrv 20002 37776 / 477777 = 4@0P2 REM * 77776 PS = O
LI R TR Y Y A R L Y R Y R R I LA e Ll

ScopPe JTEST OF DIVIDE
Q20070 MOV #20000,%0 1ILOAD HIGH ORDER WITH 22082
237774 MOV #37776,%0e1 ILOAC LOW ORDER WITH 3777¢
277777 Div ¥77977,%0 1DIVIDE BY #77777
177776 @es702 MOV SRRS, PSH ISAVE PS
09p030 QR6672 cMPB W ,PSY 118 PS n @
BEQ Y}
HLY IPS 1S WRONG
g40070 CMP #40220,%0 118 QUOTIENT = 42222
REQ vod )
HLT JQUOTIENT IS WRONG
277776 cMP 77776, %0+1 11S REMAINDER » 77776
seqQ o4
HLT JIREMAINDER 1S WRONG

L L T L T L Ly Y Y e T Y T Y Y Y]
JYEST 26 Dyy 477777 77777 / ¥i77776 ® 4Q@0PP REM = 177777 PS = @
L L L L L T Ty Yy Y Ty T TR AT YL Y TR 22 s

SCOPE 1TEST OF DIVIDE

177777 MOV #177777,%8 JILOAD MIGH ORDER WITH 177777
277777 MoV H77777,%001 ILGAD LOW ORDER WITH 77777
177776 oIv #177776,%2 IDIVIDE BY #177776
177776 @p6622 MOV sUPS, PSH ISAVE PS
200028 206414 CMPB ¥g,PSK IS PS = D

BEQ Y

HLT 1PS IS WRONG
242029 cHP 442202, %2 I1S QUOTIENT 5 47022

REQ 1vh

§LT JQUOTIENT i WRONG
177777 cHp KL7T777 %01 118 REMAINDER » 177777

BEQ sed

HLT IREMAINDER 15 WRONG



MAINDEC-11=DCKBL=A OV

DCKBLaA,PL1

2083832
np3p34
003040
Ap3IN44
2030508

293056
203064
293066

283078
033074
203076

203120
003124
ep3126

203118
ep3112
283116
233122
203126

203134
233142
203144

0293146
203152
203154

303156
203162
go3164

vie7ey
p127e0
212703
271027
813767

122767
2041401
pOeRYY

022709
001401
PErTID]

822703
P01401
20000

vie70y
912709
¥12793
071027
013767

122767
901403
202000

822700
291481
00gpvY

222703
zv1403
202000

MAINDEC11~DCKBL-A DIV

OCKBL4& P11

203166
903178
203174
P03200
203204

283212
203220
ap32az

803224
203230
283232

283234
203240
203242

203244
003246
ep3252
283256
003262

203270
203276
203320

223322
p@3306
2@3310

003312
0p3316
op3320

212703
012700
612701
271027
013767

122767
P0160Y
PYeove

p22700
601403
202000

022703
001401
20g000

21e701
012700
©viz70}
B71027
813767

122767
P10y
[.LLLITS

p227v0
p21403
pUeoLR

Bez701
P0140Y
oveoLe

TEST

157777
1822321
1820280
177776

282220

2409220

1020821

200020
052525
252525
177776

000028

300031

002020

TEST

080228
252524
752525
177776

oB0224

200020

0252524

202220
202020
125252
177776

200024

200020

200020

MACYL1.,606 22-FEB=72 18124 PAGE 13

06544
206536

206466
Bosdeg

L TR T Y Y L Y T Ty e T L T Y Y Y Y T Y 2
ITEST 27 D1v 187777 100Q0C1 / #1000P0 3 40200 REM ¥ 122001 PS = 2
IR R XA R T TR R Y T L Ty A R Y R T A L A Y T R Y )

SCOPE JTEST OF DIVIDE

MOV #187777.4%0 ILOAD WIGH ORDER WITH 157777
MoV #10C001,%0#1 JLOAD LOW ORDER WITH 120801
olv #100000,%8 JDIVIDE BY #100200

MOV O#PS,PSH JSAVE PS

CMPB #0,PSW J11ISPS 2 2

BEQ hd

HLT IPS 1S WRONG

cMP #40000, %0 118 QUOTIENT = 42008

BEQ Y

HLT $QUOTIENT IS WRONG

CMP 4100004, %251 $11S REMAINDER » 100001

RER vud

HLT JREMAINDER S WRONG

R Ty Y Y P Y TPy T Y
JTEST 32 Dlv 0@ 52525 / #528%25 3 ¢ REM 5 @ PS =z 0
R T Y P P Y T T e T T Y

SCOPE JTEST OF DIVIDE

MoV 9, %0 JLOAD WIGH ORDER WITH @
MOV #52525,%0+1 1.0AD LOW GRDER WITH 52525
oV #52525,%0 IDIVIDE BY #52525

MOY o¥PS,PSK $1SAVE PS

CMPB 4p,PSW i1SPS e

BEQ hé

WLTY 3PS IS WRONG

cHP #1,%0 ;18 QUOTIENT ¥ 1

BER ivé

HLT SQUOTIENT IS WRONG

CMP #0,%0%4 318 REMAINDER » @

BEQ vé

WLT JREMAINDER 1S WRONG

MACY11,606 22-FEB=72 18124 PAGE 14

06412
2n6402

2p8332
206324

L T T
ITEST 31 Div @ 52524 / #52525 = @ REM ® 52524 PS ® 4

IERZ LA P TP A T L e e YT Ty Ty

score JTEST OF OIVIDE

MOV #0,%0 1LOAD WIGH ORDER WITH 2
MOV #528524,%0+4 3LOAD LOW ORDER WITH 52524
ply #52525,%0 IDIVIDE BY #852525

MoV e¥PS,PSW JSAVE PS

CMPB #4,pSW 31S PS = 4

BER b

HLT IPS 1S WRONG

CMP #0,%0 318 QUOTIENT = @

3E0 R .

HLT JQUOTIENT 1S WRONG

CMP #52524, %044 118 REMAINDER » 52524
BEQ od

HLT IREMAINDER 1S WRONG

LRI E R P Lt R I Y T I T R R I R Y P TRy T Y Yy )

JTEST 32 Div @ @ ¢ #1252%2 s @ REM = @ PS » &

IR AT AR P A T T A A2y Rt Ly Re Y Ty R e R Y L e T R Y TR Y2 L T T

SCOPE ITEST OF DIVIDE

MOV #0,%0 JLOAD HI1GH ORDER WITH @
MoV #E,%0%1 JLOAD LOW ORDER WITH 2
nlv $128252,%9 JIDIVIDE BY %128252

MoV ®HPS,PSW JSAVE PS

CMPB #4,pPSW 11S PS =2 4

8EQ .4

HLT 1PS IS WRONG

CMP #0,%0 118 QUOTIENT = 9

BEQ Y}

HLT JQUOTIENT IS WRONG

cMP $0,%0%1 318 REMAINDER s

8EQ .4

HLT JIREMAINDER IS WRONG



MAINDECA11eDCKRL=A D]V

DCKBLA,PLL

003322
093324
203330
2p3334
223340

3346
203384
283356

BoYII&D
203364
203366

°R3372
0o3374
203376

0234080
293402
2p3406
203412
203418
PP3424

283432
203440
0p3442

pig703
012708
212701
271027
{3767

122767
P21401
800200

022700
001401
20000

022701
Po1401
210000

210701
212792
912704
871027
213767
242767

122787
PR1401
202000

MAINESai1eDOKEL=A DIV

DCKBL4A,PLL

0p3444
003446
203452
203456
BR3462
Pp3470

203476
203524
293526

233519
293512
20356
703522
203526

203534
203542
283544

203546
203552
293534

003556
2p3562
(LA L]

v1e743,
eiz7en
912701
071027
2137487
042767

122767
01401
#0200

21p704
812702
912703
071227
$13787

122767
0r140y
[TTITT]

vez702
201401
pogpYe

B22703
p1404
202020

TESQT

177614
064560
p4p342
17777s

<[-1d-2¥ ]

177270

200029

205020
@77777
202000
177776
o001 4

Been23

TEet

077777
177777
og0d22
177776
[-]-1.] Q]

ogeea2

290022
000004
sesB22
177774

202020

2g2022

202029

MACYL1,606 22~FEB=72 18124 PAGE 15

206254
206246

006176
208172

pos162

298132
Pps124

1LFRY ]

spepss
L4111

IR TR I L R Y TR A L Y Y A L R Y R Yy R R R X R L AR R P Y 22 XYL
JTEST 33 Qv 177644 66568 / #40342 ® 177072 REM 8 @ PS s 1B
] lp...l‘l"l‘.l“IQQQQOQOOQ.lQOQll’...l.l.......!liil'l.i.ﬂ.‘.l.ll.i.iu

ScoPe ITEST OF DIVIDE

MOV HL77844,%0 1LOAD HIGH ORDER WITH 177614
MOV 64860, X061 1LOAD LOW GRDER WITH 66560
DIV Hap342, %0 JIDIVIDE BY #4@342

MoV MAPS,PSH ISAVE PS

CMPB #42,984 118 PS = 18

BEQ Y}

HLT JPS 1S WRONG

cMP #L77070,%0 118 QUOTIENT s 177078

BEQ 1ed

HLT 1GUOTIENT IS WRONG

CMP 0,504 118 REMAINDER » €

BEQ 1ed

HLY IREMAINDER IS WRONG

L L L T T T T T Y Yy R T T T T LT T YA P LYY P YY)
JTEST 34 Dyv @ 77777 / KB w DUMMY REM ®= DUMMY PS 8 3
L LT T T Yy Y L Y Y T Y Y T T TR Y Y

SCOPE 1TEST OF DIVIDE

MoV #2,58 iLCAD RIGH GRDER WITH ©
MOV M77777,%044 ILOAD LOW ORDBER WITH 77777
nlv #0,%0 $DIVIDE BY #»0

MOV ®¥PS, PSW I1SAVE PS

BIcC #14,PSH

CHPB #3,PSHW 1IS PS 5 3

BEQ Y

HLT IPS IS WRONG

JR RSB N B RSN BRI RN RBRU SO RN B SRR R BB ERBA BRI RGNS R R SRR NG RB PN EB BN RGN
1ITEST 35 Olv 77777 177777 / #2 = DUMMY REM @ DUHMY PS = 2
L T T Yy ey Y e R A T R R T e Y L)

scoPE JTEST OF DIVIDE

MOV 7777750 ILOAD WIGH ORDER WITH 77777
MOV #177777, %08 1LOAD LOW ORDER WITH 177777
pIv ¥2,%0 JDIVIDE BY #2

MOV *NPS,PSH ISAVE PS

BIC #id,PSW

cuPE #2,pSW J1S PS = 2

REG 7]

HLT 1PS IS WRONG

L L L T T Y T T Y Y Y T T A T e A L A
JTEST 36 Djy 2 4 ¢/ #2 = 2 REM s 0 PS ® P
L L T T T T Y R T R Y R R g

SCOPE JITEST OF DIviDE

MOV "o,%2 JLOAD WIGH ORDER WITH @
MoV #4,%204 JLOAD LOW ORDER WITH 4
oV ®2,X2 1DIVIDE BY #2

Mov a¥PS,PSH ISAVE PS

cMPB 43,884 1IS PS e

BEQ v é

HLT tPS IS WRONG

L1 #2.%2 119 QUOTIENT ® 2

BEQ eyl

HLT . IQUOTIENT IS WRONG

cMp 40,%2¢4 115 REMAINDER w B

REQ Y

WL? I1REMAINDER 1§ WRONS



MAINDEC-11=0CKBL=A DV

DCXBLA,PLL

203566
203570
203574
293620
BR3604

203612
2093620
203622

203624
703630
203632

203634
203640
NB3642

003644
293646
np3ése
003656
203662

203670
203676
203700

293702
203706
203710

203712
233716
283720

812703
pizre2
812708
v71227
813767

122767
P01401
222200

¥22702
201401
222800

22703
001403
vepoR2

210793
812702
812703
971227
913767

122767
pO1497
'ErLET]

p22702
PU1401
PRLLIT)

822708
V1401
202000

MAINDEC=11=DCKBL=A D}V

DCKBLA.P1L

2093722
203724
293730
203734
283740

2p3746
283754
203756

ep3762
703764
293766

283778
203774
203776

0p4pee
204902
2040068
804012
004216

204024
204832
Tp4D34

204036
op4p42
004044

2040464
P04p52
004p54

810704
212702
£12703
971227
213767

122767
201403
242000

0ez702
B8Y1401
202w

022703
001401
00pR0VY

2ie701
#12702
012798
071227
13767

122767
P01407
oupo0R

822702
201403
200000

22703
221401
200008

TEST

200022
0020114
0089023
177776

209020

200023

200930

177777
177774
202322
177776

0000212

177776

000228

TEST

177777
177787
209023
177776

200210

177775

282029

200020
208013
20p@822
177776

200020

200024

2020324

MACY44,686 22-FEB=72 48124 PAGE 17

BRIBOTHBPRBERRRRPLR DD

JRARBBOBRNBBRIEBIRDAS (LXT]) »
ITEST 37 DIlv @ 9, / #3 33 REM = 0 PS w @
JERBEGERDABARRIONNDED LIT T L] BOBBBTOCRBPIEHAVARBRRIRDEY
SCOPE ITEST OF DIVIDE
MOV #p,%2 ILOAD HIGH ORDER WITH @
MOV #9, %241 JLOAD LOW ORDER WITH 9.
plv #3,%2 IDIVIDE BY #3
apspie MOV G#PS,PSW ISAVE PS
[LIY1H] CMPB *0,PSH 11S PS 3 @
BEQ o4
HLT 1PS 1S WRONG
CMP #3,%2 y1S QUOTIENT 3 3
BEQ 14 .
HLT JQUOTIENT 1S WRONG
cMP #0,%2+L 51S REMAINDER a 2
BEG 7]
HLT JREMAINDER IS WRONG

JRE R ARV RSO B G BRI BOERRB DD RBOPHBERD I RED I BN DR DR LA RFADO BB AP BRB RO BB RED

JTESY 48 DIv =1 =é / #2 8 a2 REM = 2 PS = 40

JHRBBBORBEOERNBOON A2 1 BEBBEECBRERRADIGOBRRDITED
ScoPe STEST OF DIviDE
MOV #a1,%2 1LOAD WIGH ORDER WITH =1
MOV #=d,%2e1 JLOAD LOW ORDER WITH o4
D1V #2,%2 1DIVIDE BY #2
0p8732 MOV *4PS,PSW 1SAVE PS
Bp5724 cMP3 #10,PSW 11S PS = 10
BEQ od
HLT 1PS IS WRONG
cMP #e2,%2 118 QUOTIENT & =2
8EQ od =
HLT FQUOTIENT 1S WRONG
cMP 20,%2%4 11S REMAINDER = 0
BEQ Lol :
WLT JREMAINDER 1S WRONG

MACY11,606 22-FEB=72 18124 PAGE 48

1L T 22 A T S e 2 Y T A A AR AT 2 R I A T R R A R e T2 L R 2 gy Tl
JTEST 41 Div =1 =9, / #3 = =3 REM 8 @ PS s 10

IERADREDRBEDORNTBOERNS see L2 HBGBBRBBBEEEIR IR RTRBOERES
scoPe JTEST OF DiviDE
MOV #et %2 ILOAD WIGH ORDER WITH =1
MOV Hmd,, X201 ILOAD LOW ORDER WITH =9,
DIV #3,%2 $DIVIDE BY #3
805654 MoV o#PS,PSW JSAVE PS
223646 cHPB #10,PSW 115 PS = 18
8EQ R
HLT IPS 1S WRONG
cMP #a3,%2 11S QUOTIENT & «3
gEQ e d
HLT JQUOTIENT IS WRONG
cup #0,%2%4 118 REMAINDER » 2
8Ed Y]
HLT IREMAINDER 1S WRONG

RIS R Y e L L L T R Yy Y R R P e T S TR Y 2

ITEST 42 Div P9, / #2® 4 REM w1 PS s @

|l.l.ii'.".0..li0lﬂ e BEEDRBLPRE RSB BOGROREDHE RS
scopPe ITEST OF DIVIDE
MOV #0,%2 $LOAD HIGH ORDER WITH @
MoV #9,, %21 ILOAD LOW ORDER WITH 9,
olv #2,%2 IDIVIDE BY #2
228574 MOV ®4PS,PSH ISAVE PS
003578 CHPRB 40, PSH 11S PS s @
BEQ Y}
HLY IPS IS WRONG
CMP #4,%2 118 QUOTIENT ® 4
:11] K]
HLT JQUOTIENT IS WRONG
CMP #1,%2%4 318 REMAINDER » 1
BEQ .

HLT IREMAINDER 1S WRONG



MAINDEC=11+0CKBL=A D]V TEST MACY11,606 22-FEBe72 18124 PAGE 19

DCXBLAWPLY
|’..I...Qll.‘O'0'0.‘..'.....il.'l..Il..l.i.'0..“.'Ollll."l..l....l'
ITEST 43 Div =1 e, / W2 ® <4 REM » =3 PS » 10
,.IlllQ.Q.'l.IO.I.QQ...C.'.‘I..'I."‘Il.ll'..l.ll.l.i'.'ll.l’."O.l.'
04256 ©oip70% SgoPe 1TeST oF pivipe
2p4060 P12702 177777 MOV Wey %2 3LOAD WIGH ORDER WITH =1
do4p6s 012705 4177747 MOy e, X201 1LOAD LOW ORDER WITH =9,
opdp70 071227 gppRl2 oV #e,%2 1DIVIDE BY #2
004874 013767 177776 BoS52E MOV *#PS, PSW 31SAVE PS
2p4402 122787 p@plip Cp¥512 1] WiD,PSW 118 PS = 42
004110 PR14U3 BEQ oh
opéiie POCALY HLY IPS 1S WRONG
Do4114 022702 177774 CMP #ed,; %2 1]S QUOTIENT = e4
pp4i2p 01401 BE® Lol
poéi2z Pveo2d HLY JQUOTIENT 1S WRONG
Pp4124 D22793 177777 CMP Het X241 11S REMAINDER s =1
204430 001403 BES h
204132 @0pO0R WLt JREMAINDER 15 WRONG
I LTI T Y Y Y L A T R Y L AL R R R R L A S L e E A L E L et
JTEST 44 Diy 0 9, / #=2 » =4 REM ®w 4 PS » 10
JRORRBOR R BRI BURARRER BB BN N R RPN RN RSB R RRGAR PR DODRBBRPLARBGRBRI NSRS
204134 B1lp701 SCOPE JTEST OF DIVIOE
224134 212782 223833 MOV #3852 iLOAD WiGH ORDER WiTh ©
pp4142 012703 0gpR1y MOV #9,,%2%1 1LOAD LOW ORDER WITH 9,
gpdL4s ©B71227 177776 olv We2, X2 IDIVIDE BY ww2
op4152 ©13767 177776 20%442 MoV S#PS,PSH ISAVE PS
Bpé16@ 122767 0QeR1p OP%434 CMPB #10,PSW 118 PS = 10
0g4166 001401 BEOQ L
094170 @090 HLT IPS 1§ WRONG
204172 022702 177774 CMP #md, %2 11¢ QUOTIENT = =d
2p4174 @0140% BEQ Y]
204200 ©PPOOQ HLT FQUOTIENT IS WRONG
op4202 B22793 oPp021 cMP wi,%2e1 11S REMAINDER # 1
op4206 ©D0140] BEQ Rl
pg424C 00p0UQ HLT JREMAINDER 15 WRONG
Mailymroog1=0CKa -4 DV TEs® VAEYLL.804 22-FEB=T7: 18§24 PAGE 22
DCKBLA Pi1
IEE TR R A R A L R R R R AL R AR A AR Rl At il Al A
JTEST 45 DIlv Q2 2/ #3 = @ REM » 2 PS s 4
,OCCQl’l'..QQ"IOC.GO".....ICGQI'.IQI.'..!Olll..lc...'..Q'l.l.lll‘li
ood2i2 ©19781 SCOPE JTEST OF DIvVIDE
@p4214 912702 o©Qg0o0 MOV *2,%2 1LOAD MIGH OROER 'WITH &
@p4220 €12703 pPoQz2 MOV w2,52e1 ILOAD LOW DRDER WITK 2
004224 071227 000023 DV w3,%2 IDIVIDE BY #3
004230 Q13767 177776 B2B364 MOV ®HPS,PSK 1SAVE PS
Q04236 122767 000024 €29356 CMPE #4,PSW 118 PS = 4
ppA4zéé  @R140% BEQ (o4
gpézas @upooR WLT 1PS 1S WRONG
Ap4280 022782 QRMBIC chP #8,%2 118 QUOTIENT = @
Pp4254 LU1401 BEQ Rl
204256 PURRLR HLT IQUCTIENT 1S WRONG
004260 ©22703 0p0222 cHP #2,%2¢4 319 REMAINDER » 2
po4264 PR14DY BEG soh
gE4286 0QYeRYR HLY JREMAINDER IS WRONG
'...'“ll.l..'&.‘.’l'i.l'l.l.l'..l’l!ll.'ll..l.hiﬂ'ﬂlli‘.l..lii'.iiill
ITEST 46 Dlv 2 2 / #=3 » 2 REM » 2 PS e 4
R LR R R LTS R P Y T L A R TR R R L L A R A R R R S e R g d
0p4272 921p70) scare 1TEST OF DIVIDE
gp4272 ©12782 oQeRap MoV *a, %2 1LOAD WIGH GRDER WITW 2
pp4276 012708 pel22 Moy #2,X2¢1 1L,0AD LOW ORDER WITW 2
opa3ag 074227 177778 DIy Hed, X2 101VIDE BY #=3
gp4306 Q13767 177776 OUB3LE MOV QWRG,PSK I1SAVE PS
Fpa3L4 122767 QQp024 225307 [LLE] #4,P5W 118 PS = 4
04322 001403 BEQ o4
204324 DLROLY HLT JPS IS WRONG
Pe4326 B22782 220020 cHP #0,%2 1315 GUOTIENT » 2
PP4332 BU140L pER Y
Po4334 2000VR HLY JQUGTIENT 1S WRONG
Po4336 P22703 2gg@72 CMP ¥2,5241 118 REMAINDER w 2
24342 BR140L REQ yed

2p4344 CL2RORY W T JREMAINDER 1S WRONG



MAINDEC=L1=DCKBL=A D]V TEST
DCKBLA,PLL
pp4346 Ble70l
PPe350 012722 477777
204354 B12703 17777¢
204360 ©71227 30pB23
@pa36d 013767 177774
Ppa372 122767 222024
204400 DBP140Y
0p44p2 0QLoPOO
0P44p4 P22702 222020
204410 POL4RL
2p4412 DOUpRDY
pp441d D22783 17777¢
p04420 PU1401
Pp4422 ©BYpOVR
704424 012703
204426 012702 4177777
004432 12703 177777
ppe43s 071227 009024
Vp4sd DLI767 177776
004439 122767 0Po04Q
004436 DPU140Y
p04660 ©02RLD
2p4462 022702 177777
204466 PV140Y
204470 @OROLR
294472 022703 0200020
PP4476  PDL4PY
Pp4520 0VERLR
MAINDEC-1120CKBL=A4 DIV TEST
OCKBLAJPLL
004502 B1e703
204524 £12702 Q0320
004510 ©12703 200020
2p4514 ©€71227 209021
004520 013767 4177776
2p4526 122767 Q00024
pp4534 DY14DY
204536 ©VBOVD
Pp454@ 022792 P00OIC
pP4544 VD140
294546 00p000
0p4550 02270 00PRZQ
204554 D0140Y
004556 DOPRVR
@p4560 D01g701
074562 D12702 477777
2P4566 V12703 128232
0p4572 071227 pge0a2
BR4576 BLI767 177778
204604 122767 QoORLp
204612 PU140DY
ppa6lé  DUERLD
204616 822702 152525
2p4622 DO1401
PP4624 DUPRLR
0p4626 022703 Q00030
204632 DV140})
004634 LUpROR

MACYL1,606 22-FEB=72

eps23e
088222

225152
2e5144

18124 PAGE 24

JORR RO RPN RBRR T RPN IR BB R NP RSB RSB BOBO R BB DI RO RBER B R RIS ROROLET RS
el =2 / #3 3 REM ¥ «2 PS 3 4
L T I Y Y e R R T R P A e P T Y T T R AR R AT R T T T Y ¥

ITEST 47 D1y

scOpe
MOV
MOV
DIV
MoV

CMPB
BEQ
HLT

cHP
BEQ
LT

cHP
BEQ
HLT

dey, %2
#m2,%241

S¥pS,PSW
#4,pSH

o d

#B,%2
1]

#e2,%X2%1
Y

1TEST OF piviDEe

JLOAD HWIGH ORDER WITH =1
$LOAD LOW ORDER WITH =2
$DIVIDE BY #3

1SAVE PS

318 PS s 4

1PS 1S WRONG

115 DUBTIENT = 2
JQUOTIENT iS5 WRONG

318 REMAINDER m =2

SREMAINDER 1S WRONG

LRI R R T Ry e e R R TR R Y L R Ry Y Y I Y P ST R Y R T YY)

JTESTY 52 Dyv

= wi / #1 ® e}

REM 3 @ PS » 19

IR R R Y Y P R R Y R LRy L Y T Y R P L R T P SR S Y Y

ScopPg
MOV
MoV
o1V
MOV

cMPB
BEQ
HLT

CMP
REQ
HLT

cMP
BEQ
HLT

MACY14,606 22-FEB=72

205074
2p5066

op5eLe
205210

#ed %2
#ed %241
#1,%2
®EPS, PSW

#10,PSW
vd

#el, %2
L)

W0,%2¢4
v4

18124 PAGE 22

1TEST OF DIVIDE

JLOAD WIGH ORDER WITH <4
JLOAD LOW BRDER WITH =
JDIVIDE BY #¢

JISAVE PS

;18 PS 3 10

1PS IS WRONG

115 QUOTIENT ® =3
JOUOTIENT IS WRONG

11S REMAINDER w 2

JREMAINDER 1S WRONG

R A LT L R e L L L T T Y L T Y T P Y E T T P
@0/ #L n0 REM® D PS4
R TR I T T L L L Y T LT TR P T YT L P PP P P e P

ITEST 54 Oy

ScoPr
MOV
MoV
oIv
MOV

CMPB
BEQ
HLT

cHP
BEQ
HLT

CMP
BEQ
HLT

#0,%2
#0,%2%1
#1,%2
®#PS,PSW

#4,psu
(e

#2,%2
L4

B2, %241
o d

tTEST OF DIVIDE

JLOAD WIGH ORDER WITH 8
1LOAD LOW ORDER WITH @
tDIVIDE BY #1

JSAVE PS

11S PS = 4

1PS 1S WRONG

115 QUOTIENT = @
JQUOTIENT [S WRONG

11S REMAINDER ® O

JREMAINDER 1S5 WRONG

[EAET I TSI TR TP TN T L T2 X T T Y P T T YT TN P PP PR ey
=1 125252 / #2 w 152525 REM ¢ 0 PS = 12

|olp&otliOﬂlhi'ulcn.a'lia!lﬂioﬁb.llnhni'.tiun.iQuiaiib«onniall.nn.;.n

1TEST 52 Dpv

scope
MOV
MoV
pDiv
Mov

cMPB
BEQ
HLT

cMP
BEG
HLT

cMP
8EQ
HLT

Hat, %2

#1282582,%2+1

#2,%2
8#PS,PSH

#10,pPSH
o4

$152525,%2
Yy

#0,%2%1
L od

JTEST OF DIVIDE

1LOAD WIGH ORDER WITH =i
JILOAD LOW ORDER WITH 125252
sDIVIDE BY #2

1SAVE PS

11S PS = 10

JRS 1S WRONG

11S QUOTIENT & {52525
JQUOTIENT IS WRONG

118 REMAINDER a 0

JREMAINDER 1S WRONG



MAINDEC=11=DCKBL=A

DCKBLA(PLL

284636
PE4640
gp4ased
204650
oR4634

064662
204670
004672

004674
ap4720
Bo4722

004704
op4710
0e4712

204714
04716
204722
0@4726
204732

004740
0p4746
004750

op4752
204756
2p4760

004762
004746
204778

DIv TESY
212703
012702 000220
012703 p%2525
871227 o0@R22
B13767 177776
1282767 200028
001401
P02B0Q
022702 029252
P01401
[LTT1-1]
022703 0E0B324
P14}
pYeDLD
p1p704
612762 177777
212703 177777
071227 177777
213767 177776
122767 000022
P0140Y
PRPOER
022792 200Q71
P01403
200090
022705 Q0p020
P01403
PITTT)

MAINDEC-11=DCKBL=A DIV

OCKBLAPL1L

004772
204774
005000
oe5e0é
005010

po58Lé
205024
po5026

083030
205234
095036

ep5040
Be5p44
op5046

005050
205052
005056
005082
205066

805074
2p5102
205104

203106
pe51L2
25114

-] LERY ]
ep5122
op5124

912701
912702
8127903
871227
P13767

122787
PR140%
PYRDDD

p22702
pe140y
220200

222703
001403
2000D

810701
12702
812703
v71227
2137687

122767
5014031
200220

pe2702
po140y
200992

22793
B0140Y
[PTT1 T

TEST

925253
BoeCoD
128252
177776

200010

190200

000020

225253
apeeay
128252
177776

200010

100020

2epeay

MACYLL.,606 22-FEB=72

Bp4740
ag4732

po4se2
DR4654

18124 PAGE 23

[E T T Ty T Y T Y R T Yy Ty Y Y Yy T T T T P YT T Y YT Y
JTESY 33 Div @ %2825 / ¥2 w 25252 REN s 1 PS5 0 @

A AA LR R T T R e Ay I R R Y R Y A Y Y R L A T T T R R Y]

sgoPr
MOV
MOV
olv
Mov

cMbB
8EQ
HLT

cHP
8EQ
HLT

cHP
BEQ
HLT

"0,

w2,X2
o#PS,PSH
#0,P8K
b

#28252,%2
o d

1, %208
Y]

X2
#52825,%294

1YEST OF Divipe

JLOAD WIGH ORDER WITH 0
JLOAD LOW ORDER WITH 52525
IDIVIDE BY #2

JSAVE PS

jiSPS = 2

IPS IS WRONG

118 OUOTIENT » 25252
IQUOTIENT 1S WRONG

11S REMAINDER = 1

JREMAINDER 1S WRONG

AR AR A A T e s A L L L ey T R T Y P P Y

ITEST 84 Div

ol =i / #el 3§

REM = @ PS s o

AL AT A L T A T R T R Ly R Y ey T P R Y Y Y Y 2

SCoPE
MOV
MOV
o1V
MOV

cHPB
BEQ
HLT

cHP
BEQ
HLT

CHP
BER
HLT

MACY11,806 22-FEB=72

204604
Po4576

204526
Pp4an2e

JPEST 55 DIV

18124

#el X2
Het X261
Bad, %2
SRS, PSK

#0,PSK

.4

#1,%2
o

o, %244
od

PAGE 24

ITEST OF DIVIDE

JLOAD WIGH ORDER WiTW =i
ILOAD LOW ORDER WITH =1
1I0IVIDE BY #et

1SAVE PS

11S PS w @

IPS 1S WRONG

118 QUOTIENT » 1
JQUOTIENT IS WRONG

318 REMAINDER » 2

JREMAINDER 1S WRONG

R L L L L T Yy Y TR Y R Y Y Y A R R T TR RS L AL
25283 £ / #12%292 » 1000QP REM s 0 PS = 10

(R ARG Ut AN st a R iR NP RN IR RSN RONO NN RPN IR OO RARSIRID NN LRI RRERRS

scoPe
MoV
MoV
DIV
Mov

cMPB
BEQ
HLT

CMP
BES
HLT

CHP
8EQ
HLT

T T L L LT R R YRR Y AR Y Y T T )

#28283,%2
o, X244
#129252,%2
a¥PS,PSH

#16,PSH
Lol

#100008,%2

Y

Ho,%2%4
)

ITEST OF DIVIOE

JLOAD WICH ORDER WITH 25253
JLOAD LOW ORPER WITH 2
J10IVIDE BY #12%252

I1SAVE PS

11S PS » 18

1PS 1S WRONG

515 GUOTIENT = 100022
JOUOTIENT 1S WRONG

115 REMAINDER ¥ 0

SREMAINDER IS WRONG

s LT3 LT Y YR FY Y YT R Y

JTEST 56 DIv 25283 L / #12%2%2 = 10009¢ REM s 1 PS v 12
T L T T T T T TR T LT S I A R A L L T L R L

SCOPE
MOV
Mov
olv
MOV

cHPB
BEQ
HLT

cMP
BER
HLT

cMP
BEQ
BT

#23253,%2
w1, K244
#125%252,%2
SRS, PSH

#18,PSH
L

#102080, %2
o4

w1, K241
o b

JTEST OF DIVIDE

1LOAD M1GH ORDER WITH 25253
JLOAD LOW ORDER WITH 1
IDIVIDE BY #125252

ISAVE PS

118 PS = 10

1PS 1S WRONG

)18 GUOTIENT » £BR200
1QUOTLIENT 1S WRONG

118 REMAINDER » 1

(OFMATNAFD 18 WRANR



MAINDEC-11«DCKBL=A DIV

DCKBLA,PLL

085126
085130
205134
285140
205144

0e5152
np5160
2095162

005164
285170
0@5172

@85174
205200
ppszez

285204
0085226
205212
2g521é
205222

205230
305236
2p5242

205242
2p5246
205252

25252
205256
@p5260

MAINDEC-14=DCKBL=A D1V

DCKBLAWPLL

205262
805264
205270
205274
295300

8p5326
225314
205316

7205320
295324
2p5326

205330
205334
205336

205340
205342
205346
205352
295336

DB5364
0085372
205374

203376
205402
J05404

705406
205412
205414

212703
012722
212708
v71227
213767

122767
001401
2ueeuY

ve2702
Po1401
LT

0227038
601403
PPrLLT]

010701
p12702
v1270S
V71227
013767

122787
001401
PELLIT)

222702
v01401
P0QEYR

822703
001401
VUPoYe

210701
812702
912703
pr1227
013767

122767
001401
00pR0?

wa22702
VY1401
[LLL1T]

022703
001401
080090

010701
812702
012708
871227
013767

122767
281421
000D

B22702
po1401
20000

022704
201403
292000

TEST

837777
877717
277777
177776

002030

277777

877776

200020
189030
200022
177776

200020

040030

200020

TEST

220020
109031
092022
177776

000220

240020

peP221

020022
037776
277777
177776

300220

049020

2877776

MACYL11,686 22-FEB=72 18124 PAGE 28

004450
P04442

2p4372
0p4364

L Y Ly L Y ey Y T T LY
JTEST 57 Div 37777 77777 / AY7777 = 77777 REM ® 77776 PS 3 @

LIRS Y Ry R T R T R e T e T L T R A T RS g

ScoPp ITEST OF DIVIDE

MOV #37777,%2 1LOAD WIGH ORDER WITH 37777
MOV #77777,%241 ILCAD LOW ORBER WITH 77777
nlv %#77777,%2 JDIVIDE BY #77777

MOV ®4PS,PSH JSAVE PS

€MPB 40,PSW 11S PS = @

BEQ ieé

HLT JPS 1S WRONG

CHP 477777, %2 11S QUOTIENT & 77777

BEQ ved

HLT JQUOTIENT iS WRONG

cMP KTTTT6,%244 J1S REMAINDER » 77776

BEQ vé

HLT JREMAINDER 1S WRONG

R Y T T T T L e T T T P T P T
JTESY 62 Div 0 102008 / ®2 = 40000 REM a @ PS a O
P L L L P Y Y

SCOPE JTEST OF DIVIDE

MOV #8,4%2 JLOAD WIGH ORDER WITH @
MOV #102000,%2¢1 1LOAD LOW ORDER WITH loe0p0
Dlv #2,%2 31DIVIDE BY #2

MoV Q#PS, PSK JSAVE PS

CMPB #0,PSW 11 PS = 0

BE® L]

WLT 1PS 18 WRONG

CMP #40008,%2 318 GUOTIENT = 40000
BEQ 144

HLY JQUOTIENT 1S WRONG

CMP #P,%2%4 11S REMAINDER 3 2

BEQ 1.4

HLT JREMAINDER 1S WRONG

MACY11,686 22-FEB~72 18124 PAGE 26

004314
24306

op4236
204230

LTI T P TT PP wowe L T T T Y T T
JTEST 61 Div @ 100001 / #2 = 40000 REM s 1 PS =z 2

JEBRBBBBLRIB RPN I RBBEN BRBHBEBBIEB BB BB HRREIDE

scope 1TEST OF DIVIDE

MOV #0,%2 JLOAD HIGH ORDER WITH 8
MoV #102001, %291 ILOAD LOW QRDER WITH 102201
by #2,%2 IDIVIDE BY #2

MOV e4pS, PSH 1SAVE PS

cMPB #0,pSH IS PS e 0

BEQ o4

HWLT 1PS 1S WRONG

cHP #40000, %2 11S QUOTIENT = 42000
BEQ 1o d

HLT JQUOTIENT IS WRONG

cHMP #1,%2¢1 115 REMAINDER » 1

BEQ +4

HLT JREMAINDER 1§ WRONG

L S e T Ty Y T I T Iy )
STEST 82 Dy 20880 37776 / #77777 s 40808 REM = 77776 PS 3 p

JORBALIRBNOBQEE L1Ad " HERIBBO PSRRI RPCRB N GR R R DR BRD
ScopPe ITEST OF DIVIDE
MOV #20000,%2 JLOAD WIGH ORDER WITH 20229
MoV 437776,%2+4 JLOAD LOW ORDER WITH 37775
o1V #77777.%2 10IVIDE BY #77777
MOV P#PS,PSW ISAVE PS
CMPB #0,PSW 11SPS =2
BEQ véd
HLT IPS IS WRONG
CMP #4p200,%2 11S QUOTIENT » 40000
BEQ T}
HLT $GUOTIENT IS WRONG
CMP #77776,%X241 118 REMAINDER ® 77776
BEQ Y}

HLT JREMAINDER 1S WRONG



MAINOEC.11=DCKBL=A DlV TESY MACYL11,606 22-FEBe72 18124 PAGE 27

DEXaLa,PLL
|ll..‘il’l..l...'OIQNQQ.O."l..i...l...&lld".QI0.0'..0!.'.0'..0..'\.'
ITEST 63 Dyiv 177777 77777 / W177776 w 4DRQE REM w 177777 PS 2 2
L L T L L Yy Y Ry Y Y Y L Yy A T R R L)
063416 P1e701 score 1TESY OF DIVIDE
oe%42¢ Blz782 477777 MOV #L7Y777,%2 JLOAD WIGH ORDER WITW 177777
pa5424 0127038 077777 MOV 77977, %264 JLOAD LOW ORDER WITW 77777
035430 071227 177776 oty #177776,%2 IDIVIDE BY #177776
208434 BLITE? 177776 04162 MOV SAPS,PSK ISAVE PS
283442 122767 Q0228 204152 £MPB #2,pS¥ j1S PS s 2
005450 001401 BEQ 1s4
235432 020QDYD HLT JIPS 1S WRONG
2054%4 022792 04p020 cHP N40009,%2 118 QUOTIENT » 40000
003460 U142 BEC Lo )
205462 020D Wt JQUOTIENT S WRONG
op5464 022783 177777 CMP HLTI7T7 %248 118 REMAINDER = 177777
005478 001401 BEDQ o4
095472 0U2000 _ HLT IREMAINDER 1S WRONG
JRRNERRB ISR RN A BU AP BRRBBB SRR GNBREREBBPEORUBRBED RN NB AR Rty
ITEST 84 Dgv 157777 100001 / #1P0002 = 40@0C REM s 100001 PS = @
JRERReBBaEBRpEIERIARY (121 L] FERBBPRBRBBRBRBENRBRRBN RS
885474 21lp70% scopre 1TEST OF pIVIDE
298474 012702 457777 4OV #18T777 %2 iLOAD WIGH ORDER WITH 157777
@@5502 012703 100071 M #100001,%2+1 JLOAD LOW ORDER WITH 100981
285506 B71227 1pp020 DIV #1p0003) X2 $0IVIDE BY #1@0000
805512 D13767 477776 Op4102 MoV e4PS,PSW ISAVE PS
PR5529 122747 0Q0Q20 0204074 CMPB 0 ,pSKW 1S PS 2D
095526 0DU1401 BEQ 4
805538 VYeDBP HLTY 1PS 1S WRONG
005532 022702 040020 cHP #40080.%2 115 QUATIENT » 40080
205536 001403 BEQ L
205540 PueoLD HLT JQUOTIENT 1S WRONG
p@5542 D22703 108071 CMP #100001, %241 115 REMAINDER » 108001
05546 PB1403 . BEQ ALl
05538 0YporR HLY IREMAINDER 1S WRONG
Malynps.gianeKeLea DIV TEET  wagyiy 424 22-FEB=72 $8;24 PACE 28
DCKBLA P11
I I L T R T L L Ty Y Y Yy Ty Y YL R ey Y A YR T Y T
ITEST 85 D1v P 52525 / #5252% = 4 REM s g PS » 2
L L Y T Y Y TR R Ry Y Y Yy R Y R R R T Y T )
pa5532 81e70d SCOPE JITEST OF DIVIDE
2055%4 ©€12792 Q030 MOV #0,%2 1LOAD HIGH ORDER WiTH @
9¢5560 ©12703 952525 MOV #52829,%2¢4 ILOAD LOW ORDER W]TW 52325
c@8564 971227 p52525 olv #32925,%2 IDIVIDE BY #52525
235578 ©L13767 177776 B24p24 Moy ®#PS,PSK ISAVE PS
905576 122767 (Q0eCz@ (Cp4214 CMPB #2,PSW 11S PS v @
2g%5404 DU140] BEQ e h
ge5606 PUPOVE HLY 1PE IS WRONG
205610 922702 ¢@ee3y cHP #1,%2 P18 QUOTIENT » 1
gp3814 D01401 BEQ 1.4
28616 BopRDD HLT SQUOTIENT 15 WRONG
#e5620 V22703 ggpRac cMP #0,X241 118 REMAINDER » 0
gp5624 £9¥1401 BEQ 4
895626 BreoLR HLT JREMAINDER 18 WRONG
LT e Y e L L e e L L A L LR L L
JYEST 86 D1y @ 52924 / WB2828 n 0 REM » 52524 pPS » 4
L L T Y L Ty Y Ty Yy Yy e P L T AT YN T 2 T
005632 218701 sCoPe JTEST OF DIVIDE
095632 ©12702 20020 MoV *0,%2 1LOAD WIGH QRDER WITH @
205634 Q12703 952524 MOV #52524, %24 JLOAD LOW ORDER WITW 52524
05642 E£71227 (52525 oiv #52825,%2 JO1VIDE BY #52825
BO5646 L3767 177776 Q3746 mov O¥PS,PSK ISAVE PS
Po5684 122787 0Qpd74 22374¢ CMPB ¥4,PSW 11S PS = 4
ap8662 ©BU1401 BEQ L
208664 0Q0QRUE WLt iPS IS WRONG
Bo3666 P22702 epgRl2e cHP #0,%2 118 GUOTIENT » 2
2p8672 PU14D1 BEQ rod
20%474 20p2KO HLT JQUOTIENT 1§ WRONG
oe5676 022703 052524 cnP #52524,%2%2 118 REMAINDER » 32324
205702 001421 BEQ A

208724 DOBOED HLT JREMAINDER 1S WRONG



MAINDEC-11=DCKBL=A D[V TEST MACY11,606 22~FEB=72 18124 PAGE 29

DCKBLA.P11

JEABRR DB IDR AR R BB REGBRERDOEDPRR RS FBRBINBOAPB BB RTSRBDBNEDRDEODINTED
JTEST 67 Dlv 2 0 ¢ #425232 v @ REM 2 @ PS 3 &
l'.&Olll‘cil..ﬁl&QQQQICIG.l..iﬁ.bil"li.i.ﬁlIllioiill'ioilﬂll.i.l.’.l

2e5786 ©@1270) scoPe JTEST OF DivIDE

ap571@ 012702 2P0 MOV #p %2 JLOAD MIGH ORDER WITH @

¢g5714 012703 @020 MOV #O, %241 J_LOAD LOW ORDER WITH 2

@@5720 ©71227 128252 DIV #125252,%2 JDIVIDE BY #128252

pp5724 D13767 177776 BE3670 Mov ®#PS,PSH ISAVE PS

805732 122767 000034 003662 €MPB #6,PSH 115 PS = 4

2e5740 ©2140% BEG 1o

@p5742 OVBBUR HLT 1PS IS WRONG

PB5744 022702 00020 CMP #2,%2 318 QUOTIENT & 2

pe5750 001461 8EQ L]

295752 GUBOYE HLT FQUOTIENT 1S WRONG

285754 022703 2p0030 cMP #0,%244 $1S REMAINDER = 0

025760 PR1403 BEQ Y

295762 9vo0LR MLt JREMAINDER 1S WRONG
IR E A R R A Y R AL A S R R R R A T R R Y R RS LY TR R 2y e ]
JTEST T8 DIy 177614 66562 / #40342 w 177870 REM = @ PS = 18
IR TR e A T T R A R R T R R R LY Ry Y TR X R T T E L Y Y

P05764 V1E70L scoPe ITEST OF DIVIDE

0p5766 DL2702 177644 MOV ELT7614,%2 ILOAD HIGH ORDER W1TH 177614

BD3772 D12783 0665sp MOV #66560,%2¢1 JLOAD LOW ORDER WITH 66567

095776 071227 04p342 DIV #40342,%2 IDIVIDE BY #40342

pps@ne PL3TE7 177776 0@34L2 MOV ®#PS,PSW ISAVE PS

006810 122767 Q0010 003404 cMPB #10,PSW 11S PS & 18

206016 001403 BEQ i.é

206020 ©02DYR WLt IPS 1S WRONG

206022 022792 17707p cMP #177070,%2 318 QUOSTIENT = 177870

296026 001401 BES o4 .

004230 ©LROBO WLt JQUOTIENT 1S WRONG

2p6032 022708 pgodae CMP ¥O, %244 115 REMAINDER & 8

pP6R36 DU140Y BE® Lo4

06040 00200D HLT JREMAINDER 1S WRONG

g

MAINOECa11~DCKBL=A DIV TEST MACY11,606 22-FEB=72 18124 PAGE 30

DCKBLA, P11
IEAAS R 2 AR R R LS R TR R R T R e L L P e 2y 2
JTEST 74 Dty @ 77777 / #0 m DUMMY REM ® DUMMY PS = 3
IELAZ 2 A2 22 Z T A L R LA A L A R T A Y T R e LR S PR LR RS 22222 T
p06p42 Blp701 SCOPE JTEST OF DIVIDE
2p4p4s 012702 200029 MOV #2,%2 1LOAD HIGH ORDER WITH @
@36050 012703 277777 MoV HITTT7 %21 JLOAD LOW GRDER WITH 77777
296854 071227 202020 o1v #0,%2 1DIVIDE BY #p
206060 PL3767 4177776 023534 MoV KPS, PSW JSAVE PS
gobps6 042767 0D0B14 03526 81c #14,PSW
p@sPT4 122767 Q2DP23 0@352¢ cMPB #3,PSH 11S PS 5 3
006102 ©01403 8EQ Y
Pp6104 BVEDYD HLT 1PS IS WRONG
IR Y FR L I Y R T L L R F Y Y T T Y A R P T T T YRS Y ¥ )
JTEST 72 DV 77777 A77777 / #2 = DUMMY REM s DUMMY PS a 2
IR L P A TR R R T A A A A T R T Y R e R ST A L X g
006106 012701 SCOPE JTEST OF DIVIDE
2@6110 012702 277777 MOV #77777,%2 ILOAD HIGH ORDER WITH 77777
806114 012708 177777 MOV #177777 %281 JLOAD LOW ORDER WITH 177777
Pp6120 ©71227 @@peI2 DIV #2,%2 $DIVIDE BY #2
206124 B13767 177776 Dg34ve MOV a#ps,PSW JISAVE PS
PP6132 042767 (Q0014 03462 BIC #14,PSW
Pp614D 122767 000022 003454 cMPB #2,PSHW 118 PS 2 2
006146 0V14D) BEQ Y

006150 EVeoLD HLT IPS 1S WRONG



MAINBEC-11=DCKEL>A D}V

DCKBLA P11

096152
ep8154
Bas160
LT
2063170

Bo8L76
208204
006226

206210
06214
026216

206220
006224
206226

206238
226232
206236
006242
206246

226254
006262
206264

206266
qa8272
206274

Pe6276
opé3ee
pP6304

818701
212704
212705
271427
213767

122767
201403
P0pBYP

222704
01401
90pe00

822709
901403
PoopBR

B1p70y
012784
812705
871427
213767

122767
981401
21111

022704
Y1405
0ée00D

022705
901401
p0PRR

MAINDFCe11=DCKEL=A D1V

DCKBLA, 941

206326
086310
206314
206320
006324

206332
806340
206342

006344
206352
206352

006354
op63I80
206342

206364
086366
206372
eps376
0p6402

0Ged1e
2ps41s
26420

o2p8422
208426
P06430

26432
26436
208449

212793
912704
9127¢5
071427
213767

122767
PU1401
LPLEIT)

022704
P2140}
20PR00

822705
p01493
[TLLLT]

@ip701
012704
912705
871427
013767

122767
8014031
edpooe

22704
201401
20020

222703
201421
202202

TESY MACYL11,686 22-FEBe72 18124 PAGE 3%

A L AT T T L YT TR 2 Ty Y T Y P T Y YT T
ITEST 73 Dlv 2 4 s #2 9 2 REN 8 @ PS 8 D

‘.‘.Q"....Ii..Iillhhﬁﬁ..'ﬂﬁldu...l‘....l.l....'..G.l."."l“.....'..

score 1TEST OF OIVIDE
220020 MoV LT JLOAD WIGH ORDER WITH 2
200024 M #4,%401 1LOAD LOW ORDER WITH 4
290022 b1y 2,54 10IVIDE BY #2
177776 003424 MoV S4PS,PSW 1SAVE PS
200072 0p3414 cMPB g, esy 118 PS n B

BEQ 4

KLY IPS 1S WRONG
288022 cHP "2,%4 J18 QUOTIENT » 2

BEQ Y

HLT TQUOTIENT IS WRONG
200000 CMP 40, %491 115 REMAINBER » @

REQ Y

HLT IREMAINDER 1S WRONG

LI T T T L LYY L Y Y e Y L T P T R YT Y LT LY
ITEST 74 Oly 0 9,/ #3 v 3 REM e 0 PSS
IR RS A T Y L T L T R T T Y Ty ey Py T T T TP Yy ey

SCOPE JTEST OF DIVIDE
2280020 Mav e, x4 1L0AD MIGH ORDER WITW O
I'I-L1'28 Mav #9  X4s1 JLOAD LOW ORDER WITW 9,
2000323 b1V #3,%4 JDIVIDE BY #3
177776 Q03346 MOV ®#PS, PSK ISAVE PS§
200000 0@334Q cMPB #0,PSH 11S PS = B

BEQ Y

HLT 1PS IS WRONG
2000833 cHP #3,%4 115 QUOTIENT & 3

BEQ L

HLT JQUOTIENT 1S WRONG
[TLEEE] cMP 0, %401 118 REMAINDER » 0

REO Y}

HLT IREMAINDER IS WRONG

TEST MACY14,606 22-FEBe72 18124 PAGE 32

LI R P Ly R R R Y Y R R L R Y Y Py R Y R R R e R Y R Y YR Y]
JTESY 75 Djyv =1 =4 / 2 » =2 REM w 8 PS w 10
IR T T T A R R A A R R R R ey Ry Y R R e e R YR R S Y]

} SCOPE ITEST OF DIVIDE
177777 MOV Hay, X4 1LOAD WIGH ORDER WITH =1
177774 MoV Wud, K4a1 ILOAD LOW ORDER WITH =4
200032 o1y #2,%4 1DIVIDL BY #2
177776 223278 MOV #4pS, PSK ISAVE PS
20019 023262 CuPB “12,pPSW 11S PS » 18
BEO L
HLT IPS 15 WRONG
177776 cHP #e2,X4 118 QUOTIENT » =2
BEQ Ll
HLT FQUOTIENT IS WRONG
pagRae cMP #D, %444 )18 REMAINDER » 0
BEG 144
HLT JREMAINDER 18 WRONS

IELAL R TR S R R A R R T e Ay e A A L R R R R L R R P R Y AL R ]
JYEST 76 Dy =1 «9, / #3 w <3 REM # 0 PS ® 1P
|'.O.Q“OO‘.IO.l.CQllD..".l.'i.ll.'."..'l.O.'Dil.lbl.C.li‘l...lliﬂ..

scope JTEST OF DIVIDE
177777 MOV Hnd, X4 JLOAD HWIGH ORDER WITH =i
477767 MoV W, Koy JLOAD LOW ORDER WITH =9,
200023 33 3, %4 1DIVIDE BY #3
177776 283212 MOV SHPS,PSW ISAVE PS
epe@ie 203204 CMPB #10,PSW 11S PS = 10

BEG 1.4

HLY 1RS 1S WRONG
177778 cMP W3, X4 115 QUOTIENT » o3

BED Y

HLT JQUOTIENT IS WRONG
220228 cHP ¥, K4l 118 REMAINDER o 2

BEQ .4

WLY JREMAINDER 18 WRONG



MAINDECe11=DCKBL=A D]V TEST MACY11,686 22-FEB=72 18124 PAGE 3%

DCKBLA P11
JROBBRORNE AR E SRR RRENRRE RS BNBBABOBURBB IR RSN RS ROR D BRRBDER GO PR BEEDEN
JTEST 77 Div B 9, 7/ #2 m 4 REM ® 1 PS » 9
[ERIRR DRI R R R PSR B R TR DS EBPIR SRR NP ABRR ST RO R DRV HI DB RROOLREERBRDIBIRNDOD
3p6442 012701 ScoPe 1TEST OF DIVIDE
0pbs444 212704 QQerC20 MOV 9g,%¢ JILGAD HIGH ORDER WITH @
206450 ¥12705 00e014 MoV 9, X4l JLOAD LOW ORDER WITH 9,
ape454 71427 20022 plv 42,%4 1DIVIDE BY #2
0p6460 ©13767 177776 0p3134 MOV *#PS,PSU JSAVE PS
Cp6466 122767 Q0p028 0803126 cMPB 40, PSW J1S PS s 2
7@6474 DU14D1 BEQ o d
¥E6476 VR BLY HLT 3PS 1S WRONG
006528 22704 PPE024 cMP #4,%4 315 QUOTIENT = 4
206504 0Y1401 BEQ Y]
206526 £0EDYD HLT JQUOTIENT S WRONG
£06549 222705 202231 cMP #1,%4%1 11S REMAINDER » 1
2p6514 001401 BEQ Jod
206516 BYeoLR HLT IREMAINDER 1S WRONG
IR R TR TR I Ry R R R Y R R R R T Y P R A R ST R S T 1)
3TEST 100 DIV =1 #%, 7/ ¥2 ® o4 REM » &1 PS = 1D
IEIR IR R TS A T L R Y L L R R S I Y F Y e P R A TR Y S TN 2 Y
306520 ©1e703 scope 3TEST OF DIVIDE
#@6522 V12704 177777 MOV LLINE L JLOAD MIGH ORDER WITH =1
206526 01270 177747 MoV #ah, , N4s1 $LOAD LOW ORDER WITH =9,
©0@6532 B71427 292022 o1V #2,%4 sDIVIDE BY #2
@6536 V13767 177776 203256 MoV O#PS,PSW JSAVE PS
2p654¢ 122767 0ppdig 003250 cMPB ¥10,PSW 51S PS w 12
0p6552 @U1401 BEQ e
206554 0I7000 HLT tPS 1S WRONG
096556 ©22704 177774 cHP 4md, %4 315 QUOTIENT 3 =4
708562 91401 BEQ Vo4
206564 ©YPROR HLTY $QUOTIENT 1S WRONG
206566 B22705 177777 CMP Huf,%del 118 REMAINDER 2 =%
pp6572 BU14D] BEQ v é
2906574 00poLR HLT JREMAINDER 1S WRONG

MAINDEC~11=DCKBL=A DIV TEST MACY11,606 22-FEB=72 18124 PAGE 34

DCKBLAWPLL

R IR TR R R R A R L Y R R R DR A R SR L LA A LAt A b al SRt
$TEST 101 DiVY @ 9, / #=2 3 =4 REM ® 1 PS 3 10
]DQ.O.QO&6.nub@‘lildi..i..i‘ii..u'i&!lO'l'ﬁl.'uili&ﬁiiﬁ&ﬁ&*hiiiiiwﬂii

0p6576 BLETOL scope 3TEST OF DIVIDE

np4600 ©12704 @Pp020 MOV #0,%4 JLOAD WIGH ORDER WITH @

206604 ©12705 00011 MOV #9 %41 $LOAD LOW OBRDER WITH 9.

206610 D71427 177776 otv #=2,%4 sDIVIDE BY #=2

P@6614 0LIT67 177776 Pp3ode MOV @4pPs,PSH JSAVE PS

p96622 122767 20001p 822772 CMPB #108,PSH 118 PS = 10

PB6630 ©V14D1 BEQ L

006632 DVRBVD HLT IPS 1S WRONG

006634 022704 177774 CMP #ad %4 P1S QUOTIENT = =4

20664p 621401 BEQ et )

Ap6642 ©VROOD HLT JQUOTIENT IS WRONG

Pes644 022705 292071 cMP #1,%4%8 31S REMAINDER » 1

296650 ©01401 BEQ 44

206652 ©Y2D0Q HLT SREMAINDER 1S WRONG
]llé.il.nl#i..iISG*&ilil.li&'..l'i.iﬁ’ﬁﬁ#iwo“bi.l'ain.lﬁ.uﬂ‘l..&iiaiﬁ
ITEST 482 DjV 8 2 / ¥3 » @ REM ®w 2 PS w ¢
,’Ql’li.ii"..QQOOQQC.Illllll...'...l.lllilbD.“id‘ciﬁl“nﬁn“nli'alQﬁ‘&

296654 PCler7el score ITEST OF DIVIDE

Pp6656 012704 000020 MOV #0,%4 $LOAD HIGH ORDER WITH 8

206682 V12785 200022 MoV #2,%4%L $LOAD LOW QRDER WITH 2

ppe666 071427 3ppP23 nlv £3,%4 JDIVIDE BY #3

206672 V13767 177776 D@2722 Moy 04pS, PSH $1SAVE PS

onée700 122787 0QQP024 0092714 CMPB #4,PSW 11S PS = 4

206706 0U1401 BEQ 104

796710 PYVRRLD HLT IPS 1S WRONG

pO6712 ©V22704 0Q002Q CMP #0.%4 }1S QUOTIENT = 2

pp6716 0V1401 RES Y )

004720 0UVRR2R HLT JQUOTIENT IS WARONG

0@&722 022705 D2pEDZ2 CMP *#2,%4%4 J1S REMAINDER » 2

0g6726 L01401 REQ Y

n36730 PYEDLD |t JREMAINDER 1S WRONG



MAINITCaiteDCKBL=A DIV TEST MACYiL,608 22~FEB=72 18124 PAGE 33

DoX8La,PLL

FOREB NN RSSO DRI EBINBR PRI PN PPN BRI BRI NBDNAB IR INBE LR PORNIURENDND
JTEST 103 DfY 8 2 / #a3 ¥ & REM 3 2 PS s 4
X T X P Y Y Y R R TR L R R T Y T X e Ry Y R S A A AR A S e A L L

2p8732 018703 scopr 1TEST OF DIVIDE

egéy3é Bl2704  pRE0IE MOY ", N4 5LOAD WIGH ORDER WITH 8

o740 012705 00022 MoY W2, Ndel JLOAD LOW ORDER WITW 2

Bps744 071427 177778 ply Wel, x4 JIDIVIDE BY 4.3

ap6750 ©13767 177776 B02644 MOV 4P, PSK JSAVE PS

gp678%6 122767 Q00034 022434 cMPB #4,p8W P18 PS5 2 4

P06764 DBO140} BEQ Y}

056766 ©Y00UR HLT IPS 1S WRONG

pps7Y0 B22704 @dpdoC cMP #o, %4 118 QUOTIENT = 2

006774 D01401 BEQ L .

206776 0QVRRYE HWLT $QUOTIENT {S WRONG

o002 822795 Q@3022 cMP #2,%4+3 )1S REMAINDER ®» 2

ce7004 PO1401 8EQ 144

207006 0PPEUD HLT $REMAINDER IS WRONG

JRRE PRSP BNBR AR BB AR RN R R RO BD AR RN B IO B IR ST BLB IO HBBUBRIER BB NNEBEBLN
JTEST 104 DIV =1 w2 / #3 = 0 REM ® =2 PS & ¢
IR L Y L L R Y Y R R Y L R Yy R e R R R L AR E R A R AL R Ly s

007019 LiB79% SCOPE ITEST OF DIvVIDE

207012 012784 173777 ugy #ai,%4 iLOAD WiGH ORDER WITH =i

oe7016 ©12705 177776 MOV #a2,%4a1 JLOAD LOW ORDER WITH =2

B@7022 071427 00033 Dlv #3,%4 1DIVIOE BY #3

P@7026 W13767 177776 002566 MoV S4PS, PSK 1SAVE PS

0p7034 122767 000024 Q283602 cMPB W4 ,pSW 118 PS = 4

007042 001403 BEQ .4

pOTR44 0UpRUD HLT iPS 1S WRONG

pO7246 022704 200020 CMP 0, %4 118 QUOTIENT & 2

Bo7082 €2140] BEQ Y

2070%4 PLEOLR HLT JQUOTIENT 1S WRONG

BO7RBE 022705 177776 CHP #m2, %451 J1S REMAINDER = =2

307062 @o14@1 BER 1o 4

207064 0OPPRY HLT JREMAINDER IS WRONG
MAINMEC.11eDCKRLwA DIV TEETY Masvii 638 22-FrB=T: 415i24 FAGE 35

CCRBLA,P1

R T Y T P Y Y P A T P PP P T T Y
ITEST 105 DjV «1 o1 /7 #1 3 at REM ® @ PS & 10

IAAAL AL R Y g L e LY Y R R R R T e T R T2 Yy

@47066 21p701 SCOPE ITEST OF DIVIOE

2070780 812704 177777 MoV Hay, x4 $LBAD MIGH ORDER WITH =t
227974 012785 177777 MOV [ A2 SLALS] JLOAD LOW ORDER WITH =t
207108 R71427 300021 DIV 41, %4 $0IVIDE BY #t

887134 D13767 477776 0@251¢ MOV O4pS,PSK JSAVE PS

pe7112 122787 pRedi@ 0062302 CHPB #30,pPSW 11S PS = 10

207129 09148} BER L]

207122 ©Bo0YY HLT IPS 15 WRONG

887124 622794 477777 CHP Hey %4 1IS QUOTIENT 3 =1
807130 PO1401 BER el

Pp7132 022000 ML T IQUOTIENT 1S WRONG
807134 022705 QPPR20 CMP #D,x4%1 118 REMAINDER u 0
007148 001401 BEQ Lol

oe7142 BBREYe HLT iREMAINDER IS WRONG

IR R R R L L Ly e Y T T Yy T Ty Yy
JTEST 108 DfV 2 2, #¥L % 2 REM %= 2 PS w 4

AL I L e R L L L Y Ly Ty Yy Y R Ty T T Y YT Y Ty

¢07144 2le701 SCCPe 1TEST OF OtviDe

ga7146 212704 Q90P2¢Q MOV 0, X4 JLOAD HIGH ORDER WITK 2
ep71%2 ©1270% 200023¢Q MoV LI IS 22 1LOAD LOW ORDER WITH 0
ee7186 271427 ggoczy oIV #1,%4 IDIVIDE BY #1

007162 B13I767 177776 Bp2432 MoV @uRS, PSW 1SAVE PS

P07170 122767 Q24 222424 [ LE] ¥4,pSH 118 PS x 4

287176 001403 BER Y

@z7280 CugEeR HLT IPS 1S WRONG

ag7282 Q22724 pOglaR CHP o, %4 118 QUOTIENT = 2
2@7206 V1401 8EQ ed

097218 ©2p000 HLT 1QUOTIENT 1S WRONG
287242 W@227R05 zRreag CMP WD, KAy 118 REMAINDER ¥ £
207216 2451403 BEG L

rp722@8 B2lgoRY IR, TRFMATNDED Yo yDANR



MAINDEC-11~DCKBL=A DV

DCKBLAWPLL

297222
207224
207230
¥e7234
807240

807246
207254
087256

007260
¥p7264
207266

287270
207274
27276

027300
007302
07326
297312
707316

207324
8p7332
087334

207336
nB7342
297344

207346
297352
207354

21e7el
212704
812785
B/1427
213767

122767
0014031
2UDYY

V22704
001401
o0po0L

22705
©veL4vy
bYgRLY

ple701
612704
012705
v71427
013767

122767
201401
PLELPYS

022704
¥01401
00evY

B22705
01401
BueowL

MAINDEC-11=0DCKBL=A D]V

DCKBLA,PLL

pp7356
207368
ap7364
207370
287374

8p7422
ne7410
agr412

007414
Zp7420
007422

207424
207430
207432

297434
207436
207442
027446
007452

207460
207466
287470

07472
207476
re7500

207502
297506
007510

012703
212704
012705
071427
213767

122767
pU140
LELLIT)

vez7v4
¥21401
200D

©Be27085
B140]
pueewe

212701
212704
912705
071427
813767

122767
001421
[ZLITL]

822704
001401
v2e00D

822785
291401
4114

TEST

177777
125252
200022
177776

000012

152525

200020

008020
852525
200032
177776

200220

325252

20e231

TESY

177777
177777
177777
177776

2Pn220

200021

200220

925253
2002320
125232
177776

eQpP10

120020

292030

MACY14,686 22-FEB=72 18124 PAGE 37

202354
2p2346

202276
B@2272

L Yy Y T Yy LY T Y T T Y Y T ey e
JITEST 187 DiV =1 323252 / #2 w 152525 REM 5 @ PS ® 42
R R Y ey T Y T Ry Y Y R T T P Y Y PPy T Yes

SCOPE JITEST OF DIVIDE

MOV Het %4 JLOAD WIGH ORDER WITH =1
MOV #125252,%4e1 SJLOAD LOW ORDER WITH 125252
nlv 4#2,%4 $1DIVIDE BY #2

MOV OKPS,PSH ISAVE PS

CMPB #10,PSW 31S PS = 12

BEQ 4

HLY IPS 1S WRONG

CMP #152525,%4 118 OUDOTIENT ® 152525
BEQ 4 )

HLT JQUOTIENT 1S WRONG

cMP 40,%4%2 11S REMAINDER » 2

BEQ ol

HLT JREMAINDER 1S WRONG

R I T T T T Ty
$TEST 410 Div @ 52525 / #2 = 25282 REM = { PS % 2
TR T T T ST LTS T Y

SCOPE 3TEST OF DIVIDE

MOV £0,%4 JLOAD NIGH ORDER WITH B
MOV #52525)%4%3 1LOAD LOW ORDER WITH 52525
DIV #2,%4 J0IVIDE BY #2

MOV @#PS,PSW ISAVE PS

CMPB #0,PSHW J1S PS = @

BEQ 144

HLT 1PS 1S WRONG

CMP #25252,%4 $1S QUOTIENT = 25252
BEQ e d

HLT $QUOTIENT 1S WRONG

cHP #1,%4%1 318 REMAINDER 9 1

BEQ L

HLT JREMAINDER IS WRONG

MACY11,606 22-FEBw=72 18324 PAGE 38

d@222¢
8g2212

Pp2142
202134

I T T T L I TR T T Y TR RN senoeEas L e T T
JTEST 111 DiV =1 el 7/ #=1 v 4 REM = p PS = @

R L TR I A et a T T e R R R R R L L L A e L AL AL L i

scoPe }TEST OF DIVIDE

MOV Het %4 JLOAD HIGH ORDER WITH =1
MOV #mi %4l 1LOAD LOW ORDER WITH =%
DIV #at, %4 JOIVIDE BY #s1

MOV ®%PS,PSHW $SAVE PS

CMPB #0,pPSH 118 PS = 0

REQ 1eé

HLT IPS 1S WRONG

CMP #1,%4 31S QUOTIENT = 1

BEQ ALl

HLT JQUOTIENT IS WRONG

CMP #O,%4%1 318 REMAINDER & 2

BEQ L

HLT JREMAINDER 1S WRONG

R L L T T Yy e T T A A R A LT T T
JTEST 112 DiV 25253 0 / #125252 = 1P0P0¢ REM = 8 PS = 10

R T Y2 e T A R e L L L

scoPe JTEST OF DiviDE

MOV #25253, %4 JLOAD WIGH ORDER WITH 25253
MOV #P,%4%8 1LOAD LOW QRDER WITH ©
oIV #125252,%4 sDIVIDE BY #125252

Moy @¥PS, PSH 1SAVE PS

cMPB #10,PSW 11S PS = 10

BEQ 144

HLT 1PS IS WRONG

CMP #1020808, %4 118 QUOTIENT = 120000
BEQ 1

HLT JQUOTIENT 1S WRONG

CMP #0,%4%4 §1S REMAINDER = D

BEQ o4

HLT JREMAINDER 1S WRONG



MAINDEC-11=DCKBL=A DIV TEST MACYL1,686 22-FEB=72 18124 PAGE 39

OCKBLAPL1L

].l.ll.l..‘.llll..l.l..'l....l..'...i.ll"&ll.l'0.!.!...'!..!'.'.0'0.
JTEST 143 DiV 2%283 { / #125252 u 100000 REM = & PS = 19
IR Y Y Y L Y Y Y Y Y Y Y R Y N 2 L XS T SRz

op?512 0le7@) sclre JTEST OF DIVIDE

207514 EB12724 p2w%253 MOV w28253,%4 JLOAD WIGH ORDER WITH 25253

007520 ©12795 p@Pg03y MoV #1,K4ed JLOAD LOW ORDER WITH 1

0p7524 871427 129252 DIV #125252,%4 JIDIVIDE BY ®125252

287530 P13767 4177776 0@2064 MOV *HPS, PSW JSAVE PS

B@7536 122767 0J8CI® 20256 CMPB #10,PSH i18 PS & 10

Pp7544 PR1401 REQ Y]

0p7546 02ROV HLT IPS IS WRONG

0p75%0 022704 (Qp020 cMP #100000,%4 J18 GUOTIENT » ipepee

007554 @0140% BEQ eé

807586 002200 HLT SQUOTIENT tS WRONG

Pe75608 D2270% QOp021 cHP HL, X444 118 REMAINDER = {

Ap7564 201403 BEG eh

007566 PUBOVR HLT JREMAINDER 1S WRONG
j.'.Giiiﬁﬂ“éiﬁﬂ50'66“@#3.5’QGlaBGISSHQQlaﬂbilﬂiaﬁG&Gi*ﬁa‘l@dh’ﬂ#GOGS!
JITEST 334 DOV 37777 77777 / #77777 % 77777 REM s 77776 PS s @
IRALI TR ST AT YR Y] » . LA 14 * SRARLELRGRRD LB ERBIRRBERSD

007570 0le70l _ SCOPE ITEST OF DIVIDE

Bg7572 ©i2784 937777 Moy 37777, 44 1LOAD HIGH ORDER WITH 37777

207576 012785 077777 MOV H7TTP77 %494 1LOAD LOW ORDER WITH 77777

pe7622 V71427 BY77YY Dlv ¥77777:%4 IDIVIDE BY #77777

0a7606 B13767 177776 002906 MoV SEPS,PSW ISAVE PS

207614 122767 Qped2p 202000 CMPB #2,PSHW 1S PS 2 @

007622 DV1401 BEQ T}

287624 ©VROPP HLT IPS 1S WRONG

2g7626 ©227Y4 277777 cMP #ITT774%4 118 QUOTIENT = 77777

007632 001403 BEQ 14

fp7634 0CuppRR HLT JQUOTIENT 1S WRONG

BeT636 B2279¢5 877774 CMP #77776, %482 11S REMAINDER = 77776

dB7642 0B1401 BEG Y

@BT644 DLRBUE Wt PREMAINDER S WRONG

MAINDEC~11=DCKBL=A DIV TEST MACY11,6086 22-FEBe72 1B124 PAGE 4P

DCKBLA P11

| [ Y Py L Y Y Y L Y Ry Y Y Yy Yy R Y R R Y Y R YRR )
STEST 345 DiV @ 420802 / #2 « 40090 REM = @ PS 2 D
IR TR R R L L Y R R Y R R R e S R A A L R Y

087644 Dle7el scoPr JTEST OF Divide

2976%@ 2812704 200020 MOV e, %4 JLOAD HIGH ORDER WITH 2

BB7654 PL27¢% 190028 MOV 100080, %4e1 JLOAD LOW ORDER WlYH 100222

207642 V71427 0PP022 o1V w2,%4 IDIVIDE BY #2

BPY664 D13767 4177776 001732 MOY apps,PSW ISAVE PS

PO7672 122767 0BO002E 0BLV22 CMPB #e,pSH 118 PS = 2

207700 DV140Y BEC sod

@O7702 BVRRVE WLT IPS 1S WRONG

207704 022704 42020 CMP ¥40200,%4 118 GUOTIENT = 42002

207710 08140} BEQ Y

o@7712 0uveoeR HLT 1QUOTIENT 1S WRONG

207714 022785 poe020 cHP LI TR LLEY 11S REMAINDER = 8

027720 001403 BEQ o4

207722 ©4Yp00R HLT JREMAINDER 1S WRONG
LA TR R L TR A R R R R R Y R R A R R s 2L
JTEST 118 DiV © 100821 / #2 e 40000 REM = L PS n @
’.ﬂ....l..ll......lO..D.O...lOl..Ilil.l'lll.l‘.'.'..Il.!h&’...'l.‘.'.

oB7724 Blp70} ScoPE X 1TESY OF DIvIDE

87726 012704 0pA020 MoV 2, %4 ILDAD HIGH ORDER W1TH 2

2e7732 212705 109034 MoV Wi00POL, Xés1 JLOAD LOW ORDER WITH 102001

287736 071427 090022 plyv 2,54 JDIVIDE BY #2

037742 D13767 177776 0B21652 MOV AERS, PSW 1SAVE P§

2B7750 122767 Q0020 PDLis44 CMPB #3,PSH 11S PS = 0

207756 ©V1401 BEQ Joh

237760 OVERVR NLY 1PS IS WRONG

BpY762 B22704 42220 cMP #4000, %4 )18 QUOTIENT =» 4p0020

007766 BU14QY BEQ Y

207770 @dz000 HLT JQUOTIENT 1S WRONG

PB7772 022795 Q89024 cHP H1, %498 115 REMAINDER » 1

807776 001403 BEQ AL

ziagas  onagea uL? IRFMATNNER 18 WRONG



MAINDEC~11=DCKBL=A D]V TEST MACY11,686 22-FEB=72 18124 PAGE 43

DCKBLA, P11

JRORPET N NE RGeS * ‘.e BERBEROE DB RP LB OTRRRR BB RB DR BN BB G RTINS
1TESY 117 DiV 20000 37776 / 477777 ® 40008 REM = 77776 PS = O
].QIO."IC“‘.Q'..'!.6'..""'0..&..ﬁ..lll.#oi.l’li.illﬂl‘.ili.iii&ﬁ!ﬂ

210922 ©ip701 SCoOPE 1TEST OF DIVIDE

P10004 ©12704 2320028 MOV #20000,%¢ JLOAD WIGH ORDER WITH 22080

213818 ©127¢5 037776 MoV #37776, %481 SLOAD LOW ORDER WITH 37776

010814 71427 @79777 bIY) #777772%4 sDIVIDE BY #77777

212820 B13767 177776 ©@@1574 MoV e#PS,PSH 1SAVE PS

016026 122767 0Q0p020 0OP1566 CMPB 40,pSW JI1SPS =@

212034 0801401 BEQ Y]

212036 ©UYEOYD HLT IPS IS WRONG

212040 0227064 049020 CMP #400004 %4 $1S QUOTIENT = 40000

A10p44 0014V} BEQ 144

210046 QY20OYD Wt JQUOTIENT !S WRONG

212050 ©22793 @77776 CMP H77776) %401 1S REMAINBER a 77776

210054 021403 BEGQ AL

?10056 VveBLR HLY JREMAINDER 1S WRONG
IRALE A R R T LR Y e T L Ry T Y L T Y e Yy Y Y 'y
ITEST 420 DIV 177777 77777 / #177776 s 4000 REM 2 177777 PS a @
LRI P L T R e Y T Ry T LAY Y R R T T Y T S T oY

p10060 @1e701 score JTEST OF DIVIOE

?10062 ¥12704 1737777 MOV #177777,%4 JLOAD WIGH ORDER WITH 177777

012066 ©127¢5 077777 MoV #77777, %401 JLOAD LOW ORDER WITH 77777

212072 ©71427 177776 oiv #177776,%4 J10IVIDE BY #177776

210876 V13767 177776 201316 MoV *#PS,PSH 1SAVE PS

210124 122767 Q00020 021510 CMPB #0,PSW 118 PS 2 @

218112 DY¥1401 BEQ 1ol

210114 0UVPROY HLT 1PS IS WRONG

210116 022704 243038 cMP #4000, X4 11S QUOTIENT = 42800

212122 ©01401 8E0Q b d

212124 0VED0R HLT JQUOTIENT 1S WRONG

212126 22705 177777 cMP #L77777,%4%1 318 REMAINDER = 177777

210132 ©Y140) BEQ L

710134 0YpRVL KLT JREMAINDER 1S WRONG

MAINDEC-11-DCKBL®A DIV TEST MACY14,606 22-FEB=72 18124 PAGE 42

DCKBLASPL1

IR A R L A L Y e R Iy Ty Y L L T Ty P Ty
JTEST 121 DIV 457777 100004 / #10008Q = 40000 REM = 120004 PS = 2
JEREABIRARSVBRETBORPEBESEDS » Lad HERBRGDD IR BTG BRBIBRERD

212136 W01e70l scoPr JTEST OF DIVIDE

012148 012744 157777 MOV #157777.%4 $LOAD HWIGH ORDER WITH 157777

018144 P12705 100031 MOV #100001,%4+1 1L0AD LOW ORDER WITH 102301

312150 ©/1427 4100030 ply #100000,%¢ $DIVIDE BY #120029

010154 V13767 177776 Boi4ée MOV S#PS,PSW $1SAVE PS

910162 122767 Q00030 2@1432 CMPB #0,PSHW 11S PS = 0

210170 ©B01401 BEO o4

P13172 ©2%e0Y0 HLT IPS IS WRONG

@17474 022704 240020 cHP Happoo, %4 31S QUOTIENT a 42000

012200 ©091401 1] L

710202 ©@ve00d HLT JQUOTIENT 1S WRONG

012204 ©B2270> 1008241 CMP #10C001.%4%1 )1S REMAINDER = 100081

2912218 ©01401 BEG Y}

218212 ©ueo0R HLT JREMAINDER 1S WRONG
AR g L T R e R T L T Y e Y Ty ATy R e Py T YT Y T 3
JTEST 122 DIV O B2525 /7 #52525 ¢ 4 REM = ¢ PS n P
(AL LI AL 22 A 2 A R A T T Ry T Ly P T Y Y LT T P T e e T ey

217214 ©1p70) scoPe ITEST OF DIVIDE

P12216 V12704 0oppPR2R MOV #0, %4 JLOAD HIGH ORDER WITH B

912222 012795 052525 MOV #52525, X444 ILOAD LOW ORDER WITH 52525

210226 ©/1427 0252525 DIV #52525, %4 JDIVIDE BY #52525

918232 ©13767 177776 Bp13s2 MOV e¥PS,PSW JISAVE PS

010240 122767 0P0020 0E1354 cMPB #0,PSW 11S PS = 0

018246 ©0014DL BEQ Y

0102%¢ ©YEPLY HLT 1PS 1S WRONG

P10252 022704 Q00021 cMP #1,%4 318 QUOTIENT = &

910256 ¥0140] BEQ Y]

010269 VY2000 HLY 1QUOTIENT 1S WRONG

218262 922705 pP0R20 cHe LIFET 1Y J1S REMAINDER = 2

018266 BL1401 BEQ i

212270 0o0eobd HLT IREMAINDER 1S WRONG



MAINBEC=L1eDCKBL"A D]V TEST MACY14,686 22-FEB=72 18124 PAGE 43

DCKBLAWPLL

R T T T R R ey T T A R L S T AR AR LS L
JTEST 423 Djv O %2524 , #32525 s 0 REM w 52324 PS = 4
LT Y Y TR R YN Ry Y T R T Y R Y L A R RS S LA T L R L AL L

pioa7e 012703 scoPr JTEST OF DIVIDE

910274 0812704 200028 MOV #B,%4 JLOAD WIGH ORDER WITH @

210300 ©127¢5 p52524 MOV #52524,%401 JLOAD LOW ORDER WITH 52524

012304 B71427 p52525 plv #52925,%4 1DIVIOE BY #%2325

213348 DP13767 4177774 @Q4304 MoV *#PS,PSW ISAVE pS

212316 122767 g2p074 Op127¢ CMPB #4,PSH §15 PS5 = ¢

910324 D0140) BEC eé

810326 0QUeDOD WLT §PS 1S WRONG

210330 022704 Q@220 cMP #0,X4 118 GUOTIENT 3 2

010334 001421 BEO é

218336 020200 HLT IQUOTIENT IS WRONG

212342 022705 p52524 CMP #52524, X401 118 REMAINDER = 52524

2102344 DV140) BEQ vt 4

038346 ©BOOBYY HLT JREMAINDER 1S WRONG
l“O"C.ﬂiﬁlnunuuocyquoiluooo.ngooanu-;aun!*e;!;i**g;n&’;.;éc;suqiquau
JTEST 4124 DIV Q@ @ / #125252 w @ REM s 0 PS = 4
R TR T A T A R L A T R L A T R ST AL A LSSl A AL Al i

0103%2 ©1p701 scope JTESY OF DIVIOE

210382 212704 22p222 HOY #8,54 iL0AD WIGH ORDER WiTH ©

010336 012705 Q00020 MOV #0,%4+% 1LOAD LOW ORDER WITH @

019362 071427 12%232 plv #125252,%4 J0IVIDE BY #125252

010366 DL3767 177776 0pi226 MOV #PS,PSK ISAVE PS

010374 122767 000024 004229 CMPB #4,pPSH 118 PS = 4

910482 001493 BEQ +é

010404 PURRYR LT J1PS 1S WRONG

010406 V22704 202020 cMP #O, %4 118 QUOTIENT = @

210412 001403 BEO Lot )

210414 Ovp00R HLT IQUOTIENT §S WRONG

@12416 022705 0Q5027 CMP WO, K4 118 REMAINDER & 2

210422 k01403 BEQ L]

212424 0202009 HLT IREMAINDER 1S WRCONG

MAINDFCw11=0CKBL=A DIV TEQT MAMYLL 404 22.FESeT 18124 PASE 44
2CKBLAPLL

IR XX R R R R R L Ry R T e R ey
JTEST 12% DfV 177614 66562 / #4p342 5 177078 REgw » 8 PS 10
]Ill........i..I'CCQCQQ'O'IOOQIIl.'l.ﬁ..il.l...Ol'.."'l.h.Dl’h.i.l'!

212426 8178} ScoPE ITEST OF DiVIDE

010430 012784 177614 MOV H1T7614,%4 JLOAD M1GH ORDER WITH 177614

210434 012705 066552 MOV HE4562, %448 JLOAD LOW ORDER WITH 66560

310440 071627 04p342 plv #4342, %4 1DIVIDE BY #4342

212444 DLITEY 177776 BoLL5Q MOV ¥PS, PSK ISAVE PS

010482 122767 P@0O1g 00L142 cHPE #10,PSW 11 PS = 10

710488 DB01401 BE® Ry

p10462 BUROOT HLY IPS IS WRONG

p1Ea64 B22704 17707R cMP B1TTETE, %4 115 QUOTIENT = 177272

912470 001401 BEQ (o4

212472 Euvpgol WLT JOUOTIENT IS WRONG

212474 022705 pOECIE cMP AP, 4ol 118 REMAINDER » @

710520 0814023 BEQ 144

210502 upove HLT IREMAINDER IS WRONG
|0.Iil'l!..."..IOQIIl.‘.!’.'l.."."il'Q."’Oﬁllil..lll.l.l'....ll!.l
JTEST 126 DiV @ YY77T / #0 = DUMMY REM = DUMMY PS = 3
].!liﬂ".I.ll.“'l...!C.00..ll."ll'!ll.lll'i"!lllOlQ'.'.l.lQ.li.l“.'

210504 @le70l score . JTEST oF DivIDE

210506 €12784 gooDoR MOV 80, X4 1LOAD WIGH ORDER WITH @

210512 €12705 277777 MOV HITITT K4et ILOAD LOW BRDER WITH 77777

210516 ©/1427 Qggeero 384 0,4 101VIDE BY %2

210522 P13767 4177776 Qpier2 MoV ##PS,PSW ISAVE PS

210538 €42767 202014 DP2Y284 M4 #14,PSW

218536 122767 0gp0z3 201056 cMPB #3,PSW 118 PS8 5 3

P12544 RU1401 RED Y]

212546 24202 uLT I1PS IS WRONG



MAINDEC~11~DCKBL=A DIV

OCKBL4,PLL

212550
piz552
710536
010562
A10p566
210574

210602
210618
9108612

12614
012620
210624

212630
212632
212636
012642
012646

010654
¥10662
010664

210666
912672
212674

010676
310702
@12704

012701
gi27p4
2127905
871427
p13767
242767

122767
po1401
LPTYIT]

w2792
V12703
V12704

p1e701
Bl2708
012701
B71067
213767

122767
01401
LYrLrT

022702
001401
00000

022701
BB14061
poR0oLY

MAINDEC~13=DCKBL=A DIV

DCKBLAJPL1

210726
219710
912714
218720
210724

012732
212749
10742

210744
210750
10752

212754
212760
012762

010764
212766
010772
218776
p1ie02

011219
011016
011020

211022
211026
211030

011032
211936
211040

vie701
012700
612703
pr1@77
013767

122767
Pv14021
voeevp

p227¢9
g01401
202020

B2z70y
pa1401
peeo00

212701
012700
$12701
871037
B13767

122767
PR 4pL
vaeeoR

022700
v91401
PPLLLT]

022703
V01403
008299

TEST

877777
179777
2920822
177776
200014

ogpR22

2gel22
814626
211639

20020829
852525
20070
177776

200220

223252

202071

TEST

002028
252525
200724
177776

200020

825252

008021

202220
852525
011626
177776

000028

225252

3%e231

MACY11,606 22-FEB=72 18124 PAGE 43

201026
221020

201042

208746
208742

IR R T T A R T R L Y Y ey L R R R Y S SR T Y T )
ITEST 127 DIV 77777 477777 / #2 = DUMMY REM = DUMMY PS a2 2
IR TR TR 2 Y R L Y R R R R T Y R R Y Yy Y Y Y Y R Y PRI Y Y Y Y Y T X T X

SCoPE ITEST OF D1VIDE

MoV #777774%4 FLOAD WIGH ORDER WITH 77777
MoY #177777, %41 SLOAD LOW OROER WITH 177777
pIv #2,X%4 JIDIVICE BY #2

MOV O#PS,PSK ISAVE PS

BiC #14,PSW

cMPB #2,pSW i1 PS 3 2

BEQ L]

HLT IPS IS WRONG

MOY #2.%2

MoV #S4,%3

Mov #S2,%4

R L e LT T T T T SRR 2 2 P T A T L T A P PR T
JTEST 439 DIV @2 52525 / S1 = 25252 REM a4 PS » O

IR A T T L Ty R T R T Y R E Y T T Y YR T T T T Yy

SCOPE ITEST OF DIVIDE

MOV #0,%0 tLOAD WIGH ORDER WITH @
MoV #52525,%2+4 JLOAD LOW ORDER WITH 52525
33 S1,%0 JOIVIDE BY S1

MOV 8#PS,PSW 1SAVE PS

¢MPB #0,PSW JISPS =z 2

BEQ Y

HLY 1PS 1S WRONG

cHP #25252, %0 $1S QUOTIENT ® 25252
BEQ Y

HLT JQUOTIENT IS WRONG

cMP #1.%041 318 REMAINDER = 1

BEQ Y

KLT JREMAINDER 1S WRONG

MACY11,606 22~FEB=72 18124 PAGE 46

-1 [.I'347)
11 11.Y

2g2612
2p2e04

LT T e Tt R e e A AR R L T S e L P A LS LA DAL it Al L
JTEST 131 DIV 9 92525 / €S2 w 25252 REM = L PS 2 @
IEL TSN L T R T AR AL AR R R A AR A g S L AR Al A DAL Al hh Al il

SCOPE 1TEST OF DiviDE

MoV #04%0 JLOAD WIGH ORDER WITH @
MOV 452525, %0+ JLOAD LOW GRDER W]TW 52525
o1y @s2,%@ 1DIVIDE BY es2

MoV 4PS, PSW ISAVE PS

cMPB #2,PSW 1S PS = @

8EQ .t

HLY IPS 1S WRONG

eMP #25252, %8 118 QUOTIENT = 25252
BEQ b4

HLY JQUOTIENT IS WRONG

CMP #1, %041 118 REMAINDER » 1

BEQ ied

HLT JREMAINDER IS WRONG

|.lG.l6.}..!.O..D.Q.l"."""l.Qilﬁl'&'IiG6iOQOiD&Q'.Diaiuﬁli...&llﬁ
JTEST 132 Div @ 52525 / ®#S4 @ 25252 REM 5 i PS = @
lIﬁilil..l“..ii‘il.il.lll'.ll"l'ii..dl..&&l.iﬁ&ﬁﬂ'll#ilolGﬂlll&&ﬁ‘.

§COPE JTEST OF DIVIDE

MoV #3,%0 JLOAD HWIGH ORDER WITH @
MoV #52825,%0¢4 JLOAD LOW ORDER WITH 52525
DIV *¥SY, X0 1DIVIDE BY @#S1

MoV @#PS,PSH ISAVE PS

cHMPB #0,PSH JIS PS a @

BEQ od

HLT JPS 1S WRONG

CMP #25252, X2 31S GUOTIENT = 25232
BEQ L}

WLY JQUOTIENT 1S WRONG

cMP 41,5044 118 REMAINDER v 1

BEQ Y

HLT JREMAINDER 1S WRONG



MAINDEC=11=DCKBL=A

DCKBLA(PLL

011042
011044
011059
211054
2110%6

211064
811072
211274

0110746
o111e2
011104

011126
211142
211114

011116
211120
011124
211132
011132

211140
B11146
211150

811152
911156
21116@

211162
811166
011178

01e791
012708
912703
071002
013767

122767
001401
¢2se0n

222790
201401
202000

022701
601401
2YRBYY

010703
212708
212701
271923
913767

122767
901401
20p000

p22700
801405
200000

v2z7el
901401
v0ROYe

MAINDEC.11aNEKRL=A DIV

DC¥BLA P11

211172
211174
211200
211204
211206

011244
811222
811224

011226
11232
211234

011236
911242
g11244

011246
811250
811254
011262
011264

011272
e1132¢
2113e2

11324
211310
211312

211314
211320
211322

01703
212700
912701
971043
213767

122787
PUL40y
9YpoLR

022700
By1401
LEELT)

p22701
201403
202002

p1p701
212720
212701
071064
913767

122767
901403
LTTITT]

022700
201401
220000

822704
001403
2v2002

DIv vesT

20p020
252528

177776
osa02e

B2%252

220024

2000228
052525

177776
2ep020

g23252

o002z

TEeY

coedae
252525

177776
2ope2e

828232

800221

2QeeaR
852525
egera2
177776

00220

228282

egeo2s

MACYLL

280536
208532

2p2462
80p454

200406
200400

82330
2p8322

1806 22-FEB=72 18124

PAGE 47

LIS I T YL T T T R T Ty Yy Y Y Py T T Y T T T T T T
JTEST 433 DfV @ %2%25 / X2 » 25292 REM ¢« 4 PS5 = O

LA I A TR T R R L Yy Y Y Yy Y Y ey Y Y Y YT 22T

Lt

#2,%0
#52%25,X0ey
X2,%0

O#PS, PSK

#0,08W
Lo

428252,%0

oo d

#1,X044
Y]

$TEST OF DiVIDE

ILOAD HIGH ORDER WITH @
1LOAD LOW ORDER WITH 52525
IDIVIDE BY %2

JSAVE PS

11S PS c B

IPS IS WRONG

118 QUOTIENT = 25282
JOUOTIENT IS WRONG

515 REMAINDER » 1

JREMAINDER 1S WRONG

A A L L A A L L L Y R Y Y Y T Y 2T )
JTEST 134 DfV B 52525 / (3)s a 28252 REM s i PS w O
LR R L Y R 2 Ly L T Y Y Y Y P T T Py ey

scoPe
MOy
MOV
piv
MOV

CMPB
BEQ
HLT

cMP
8EQ
HLT

cMP
8EQ
HLT

(406 22-FEoe?s

#9, %2
W52525,X0e1
(3)e,%0
®¥PS, PSW

#0,FSW
ool

#29252,X0
o h

#1,%044
Y]

18124 PAGE 4

JTEST OF DIVIDE

$LOAD HIGH ORDER WITH §

1LOAD LOW ORDER WITH 52525
JIDIVIDE BY (3)s

JSAVE PS

J1SPS =@

IFS 1S WRONG

118 GUOTIENT » 25282
JQUOTIENT 1S WRONG

$18 REMAINDER » 1

SREMAINDER 18 WRONG

LI T P Yy Y Ty Y Y T T Y T Y P P Y T P Y YT Ry Y 2
JTEST 435 pjv @ 92525 / =(3) v 25252 REM s 4 PS v O
LTy T L Y Ty Y Y Ry T Y A A YR T

SCOPE
MOV
MoV
olv
MOV

CMPB
BEQ
WLT

cMP
BEC
HLT

cHp
BEQ
HLT

e, xe
¥52525,%02+1
={3),%0
0#pS,PSW

P, PSH
Y

#25252,%¢
K1}

#1,%0¢1
o é

tTEST OF DIVIDE

1LOAD WIGH ORDER WITH @
JLOAD LOW GROER W]YH 52525
IDIVIDE BY =(3)

ISAVE PS

118 PS n O

IPS 1S WRONG

118 OUGTIENT = 23282
JIGUOTIENT IS WRONG

118 REMAINDER = 1

JTREMAINDER 185 WRONG

R I I Ty Ty Ry Yy Y Yy Y s Y Y T2 11 )
B 32525 / 2(4) s 25252 REM ¢ 1 PS s

RGBSR R BAEN R RN R BB PR BB R P RN RN PN BRI BE NN DO B A BGI OGNSR R HB RN DBN NS

ITEST 136 DV

SCOPE
MoV
MOV
olv
MoV

cHPB
BEG
HLT

oM
BES
WLT

CMP
BERQ
HLT

o, xe
¥528525,%0¢4
2(4),%8
BHPS, PN

¥O.PSW
v é

#28282,%¢
1]

#1, %044
o d

1TEST OF DIVIDE

J1LOAD WIGH ORDER WITH @
JILOAD LOW ORDER WITH 52525
10IVIOE BY 2(4)

ISAVE PS

118 PS = @

IPS 1S WRONG

118 QUDTIENT s 25252
JQUOTIENT IS WRONG

118 REMAINDER » 3

JREMAINDER 1S WRONG



MAINDOECA11=DCKBL=A DIV TESY
DCKBLAPLL

?11324 Blg70%

011326 ©£12702 0Qp020

211332 12701 952525

211336 ©71074 Q02020

211342 013767 177776

811350 122767 000020

011356 BUL40)

011360 ©3200P

211362 022700 225252

211366 V01421

p11370 ©020C2

211372 02701 0209034

211376 00140}

011420 ©VUEROD

911402 012703

711434 912702 0QQ0R20

711418 V12701 052525

11414 ©71034

p11416 0137867 177776

011424 122767 000220

011432 001493

211434 VV00RD

211436 0822700 @25252

©11442 891401

p11444  BBRODO

P11446 022701 003021

611452 001401

(11454 DBUCOOR
MAINDEC-11=DCKBL=A DIV TEST
DCKBL &, P11

211456 B12701

p1146p 012708 220029

A11464 012721 852525

911479 V71054

211472 013767 177776

011580 122767 000020

211506 001401

911510 ©0CDRY

211512 022708 025252

711516 001403

011528 0642000

011522 022701 0D@R21

211526 01401

011530 0Ue20Q

211532 005267 167242

211536 D16737 167236

211544 EB22767 0220020

311552 001402

011554 ©Zei87 167222

211560 005267 167244

011564 195737 477544

011570 102375

211572 112737 009027

011698 ©13702 Q0p0e2

£11604 DO1404

011606 004710

211618 ©BUB240

211612 ©VUVL249

011614 ©0C240

011616 902137 0200220

211622 ©9e0ER

B11624 177776

211626 bUEOE2

211638 V11626

211632 ©Pp0OB2

oveoey

MACYL11,606 22-FEB=72

18124 PAGE 49

I I T Ry Y Yy Y T Y Ry e Y R Y R YT Y Y T

$TEST 137

otv

¢ 52525 / o(4)

® 25252 REM s 4 PS ®» 0

T e Y R Y e A A e LY R e T R s A A T R R T A ey L

Sco0Pe ITEST OF DiviDe
MOV #0,%0 JLOAD HIGH ORDER WITH @
MoV #52525,X%0+4 JLOAD LOW ORDER WITH 52525
niv 8¢4),%8 IDIVIDE BY @t4)
220252 MoV @#PS,PSH ISAVE PS
000244 CMPB #0,pSW J1s PS = 2
BEQ v
HLT IPS 1S WRONG
cMP #28252,%¢2 318 QUOTIENT » 25252
BEQ R
HLT JQUOTIENT 1S WRONG
CMP #1, %048 )1S REMAINDER = ¢
BEQ 44
HLT JREMAINDER 1S WRONG
’l...l.“&i.i.!il.b&{é.ﬁidG'Ul.‘il L ] LEE TS ) HRHBpEpUBHLBODES
JTEST 14¢ DV @ 52525 / ®(d)a n 25252 REM = 4 PS € @
]i.&’&&'&.i.‘Gﬁlo..lQCQQOOIiil'ii..i.'iliOGw*.linﬁoll‘ddiiiaiﬁ'.li..w
SCOPE 1TEST OF DIVIOE
MOV 49,%0 JLOAD WIGH ORDER WITH @
MOV #52525,%0+4 $LOAD LOW ORDER WITH 52525
plv 8(4)« %0 JI0IVIDE BY @(4)+
282176 MoV ®#PS,PSH JSAVE PS
200172 CMPB #0,PSW 1S PS 2 @
BEQ T
HLT IPS 1S WRONG
cHP 425252 %0 118 QUOTIENT = 25252
BEQ v
HLT IQUOTIENT IS WRONG
cHMP #1,%0%1 11S REMAINDER = 1
BEQ v é
HLT JREMAINDER IS WRONG
MACY11,606 22-FEBe72 18124 PAGE 58
liOii.#inl..'.ﬂﬂlb‘l&..l!iﬂGI*"‘i5."BQC&Daﬁ'ﬁ...&..'a-ﬂl&ﬂﬁil.&&‘ﬁ.l
JTEST 1614 DiV 0 82525 / @<(4) = 25252 REM ¥ § PS 2 @
IEAZZ I XA T L AR AT R Y R AL E A S T A X L S L RS R T R R R R R Ry 2
scoPE JTEST OF DIVIDE
MOV #2,%0 1LOAD HIGH ORDER WITH @
MOV #52525, %041 3LOAD LOW GRDER WITH 52525
344 Rn(4),%0 SDIVIDE BY a=(4)
200122 Moy @#PS, PSH JSAVE PS
2prLL4 cMPB #9,PSHW 11S PS 2 0
BEQ 14
R JPS 1S WRONG
CMP #25252, %9 ;1S GUBTIENT a 25252
BEQ .4
HLT JGQUOTIENT 1S WRONG
CMP #1,%0%1 118 REMAINDER = 1
BEG 1v4
HLT IREMAINDER 1S WRONG
INC 1CNT
177578 MoV 1CNTY, RHDISPLAY
167226 cMP 420000, ICNT
8EQ 1 +6
JMP 8EG
CLR ICNT
7878 84177564
BPL vd
177566 MOVB 47, e#177566
MOV 0442,%0 IGET MONITOR RETURN ADDRESS
BEQ 13 ISKIP IF NONE
JSR 7:10) 1GO BACK 10 THE MONITOR
NOP
NOP
NOP
181 JMP e4200 JRESTARY THE PROGRAM
PSW3 »
52 -2
39 2
s21 s1
s3 2

HEND



MAINDEC11w=D0KBL=A DIV TEST
DCKBLAPLL EYMBOL TABLE

BEG pe1202 DISP A =
1CNT 001000 N =
PS % 177776 PSW

SWR " 177570 se

s3 011632 . :

ERRORS DETECTED!

®aCYii, 686

177572
LILL
g11622
211624
211634

22-FEB*72

DyMMY

N
ScoPe
B

18124 PAGE 5¢

= pegede
" pogié2
s 210704

241626

w paoooe
s%@20207
axgeoeds

Pey632



